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English Balbharati
Unit -1l
Topic 2.1 : From a Railway Carriage

English Workshop :

Q.1.

Q.2.

Q.3.

Q.4.

Q.5.

witches - ditches; battle - cattle; plain - rain - again; eye - by;
scrambles - brambles; gazes - daisies; road - load; river - ever.

(1) Bridges and houses, hedges and ditches, horses, cattle
and meadows are mentioned in the first stanza.

(2) Hills and plains, painted stations are mentioned in the
second stanza.

(3) A child clambering and scrambling, gathering brambles
all by himself, a tramp standing and gazing and daisies in
the green are mentioned.

(1) The train is moving at great speed. Those inside the train
feel that the sights are flying. Actually the sights are
stationary, the train is moving very fast.

(2) It makes me sad because these sights of nature are really
beautiful sights and people in the train cannot take in the
beauty because the train is moving very fast.

(a)Hereis a child.
(c) And there is the green.

(b)Hereis a tramp.

(d)Hereis a cart.

(f) And thereis ariver.

Yes, we can tell which ones are closer and which are at a
distance from the train.

(e) And here is a mill.

The word ‘here’ shows something which is nearby or closer.

The word ‘there’ shows something which is faraway or at a
distance.

Her dress is shining like the sun.

He keeps his mind like an open book.

T.V. makes the brain as soft as cheese.

The sun is as hot as fire.
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Q.6.

Bus.

Here are boys playing.

There are beggars begging.

There are dogs fighting for some food.
There are lot of papers scattered on the road.
There is so much of wood.

Aeroplane.

High up in the sky we fly,

And some clouds in the sky.

There we see some mountains.

And water flowing down like a fountain.
What a beautiful sight for one’s eyes.

A sight we cannot forget even if one tries.

Comprehension :
Extract - 1

Q.1.

Q.2.

Q.3.

(1) Theyfly as thick as driving rain.

(2) Stations whistle by the poet.

(3) The poet sees the child clambering and scrambling and
gathering brambles all by himself.

(4) Heisstanding and gazing.

(5) Thecharging train is compared to troops in a battle.

The poet is in a train that is rushing past at a very high speed. It

passes meadows and horses and cattle. It passes painted

stations and flower bushes. There is a child clambering and

scrambling to gather brambles. He sees a tramp standing and

gazing at the passing train. The poet also sees a cart loaded

with goods lumping along. There is a river that soon disappears.

All these sights are seen just for a moment.

(1) (a) Alliteration - sound of letter f’is repeated.
(b) Simile - The fast moving train is compared to troops.
(c) Simile - all the sights are compared to the driving rain.
(2) Witches - ditches; battle - cattle.
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Topic 2.2 : The Souvenir

English Workshop :

Q.1.

Q.2.

Q.3.

Q.4.

(1) (a) grossly excessive  (b) actions taken early to avoid risk
(c) without official permission
(d) again and again  (e) with great eagerness

(2) (a)orbit, bit

(c) author

(b) caution
(d)repeat  (e) enthusiastic
Boarding the space shuttle to reach the moon.

Slowly the earth looks smaller and smaller.

The shuttle starts orbiting the moon.

It completes one revolution every 32 minutes.

Dome shaped settlements on the moon visible.

Space shuttle lands.

Children taken to Neil Armstrong base via a tunnel.

Children welcomed by the receptionist and given important
instructions.

First day on the moon - Sky watch.

Second day- Circus watching.

Third day - Visiting the Neil Armstrong historical monument
and wearing space suits to go shopping.

Return to the Earth.

(1) Right (2) Right  (3) Wrong (4) Wrong
(5) Wrong (6) Right  (7) Wrong

First Day : On the first day of the trip, we were taken for a ‘Sky
Watch'’. There is no atmosphere on the moon. We could see the
stars shining or rather | should say dazzling brightly on the dark
background of the moon sky. We saw the disc of the earth. The
earth looked thirteen times bigger. We could not believe what
we were observing. It was also seventy times brighter. We were
all ecstatic. It was like WOW’.
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Q.5.

Q.6.

Second Day : | was looking forward to my second day on the
moon. The main attraction was the circus on the moon. We
were made to sit in the tent and the circus was going on outside.
We were surprised at this seating arrangement, but again it was
wonderful to see the gymnast jumping twenty-seven metres
high. After the circus we visited some settlements and spoke to
the people staying there.

Third Day : We went to a place of historical importance. This
was the place where Neil Armstrong had landed a hundred
years earlier. It is the oldest place in the history of man on the
moon. Neil Armstrong's first footprint is preserved. On the base,
it is carved ‘One small step for a man, one giant leap of
mankind.” We all were simply amazed.

This was followed by us wearing space suits and roaming
outside and experiencing the gravitational force of the moon.
Then we bought ornaments for our parents and friends.

The day I gave the earrings to mom.

| was waiting to present the earrings to mom. | had bought
them to show mother how grateful | was for this amazing trip. |

was sad when mummy looked at the earrings and asked me
how | expected her to wear such heavy earrings.

| was disappointed, but | suddenly realised that the earrings
were heavy on earth, because | had purchased them in the field
of the moon’s gravity.

The field of gravity on the moon will not allow big, huge
buildings. Secondly, there are not many who have settled on the
moon, hence only settlements are mentioned.

(1) Inthe 21" century more or less.

(2) Sayalilivesin India.

(3) The feeling would be one of surprise, one of awe,
something unbelievable. | would not know what would
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4)

)

6)

@

®

happen next. The feeling would be something, | would
find very difficult to define or describe.

Since the gravitational force of the moon is 1/6 that of the
earth, in settlements, this force is made equivalent to that
of the earth and artificially maintained, but outside the
settlements the gravitational force of the moon is at
work, hence the children were told to be very careful
when they roamed around.

The second point was related to shopping on the moon.
All were told to buy articles only from the shops inside the
dome shaped settlements, and not from unauthorised
shops outside.

There is no atmosphere on the moon, hence on the dark
background of the moon sky, the stars shone dazzling
bright. This was unlike the foggy atmosphere of the earth.
The most attractive view was the disc of the earth. The
earth looked thirteen times bigger than the moon in the
moon’s sky. It was also seventy times brighter.

It tells us that the earth looked as if it had its own light
and it must have been day time on earth, for its light to
shine so brightly.

Without atmosphere we will not get gases needed for
living, breathing and growing trees and plants. People
will have to wear oxygen masks. There will not be any
vegetation and trees in such places. Everything around
will be clear and bright, not foggy.

If the circus was held in a closed hall, the gymnast would
not be able to jump twenty seven metres high. Jumping
would be impossible in a tent. Hence, the spectators had
to be seated in the tent while the jumping took place
outside the tent.

)]

(10)

an

She bought the earrings in the open market. Here, the
gravitational pull of the moon was 1/6 that of the earth,
hence the earrings did not appear heavy. Sayali did not
realise this at that time, since she was wearing her space
suit. To her, the earrings did not feel heavy.

Sayali had ignored the instructions, which mentioned not
to buy anything from the outside shops, but to do
shopping only from the shops inside the dome shaped
settlements.

Sayali had purchased the earrings in the field of the
moon’s gravity which is 1/6 that of the earth’s gravity.
When she was purchasing the earrings, she felt the
weight was fine but on the earth, the gravity is six times
that on the moon. Hence, on the earth the earrings
became heavy.

Comprehension :

Extract - 1

Q.1. (1)

2)

3)

4

You all must be interested in carrying souvenirs back

home from the moon.

The gravitational force of the moon is 1/6 that of the
earth.

The children were escorted through an airtight tunnel

to the settlement at the Neil Armstrong base.

You will have to be extremely careful when you roam

around here.

Q.2. (M-, @-(@, 3)-(d), @A-(b).

Q.3. (1)

(a) The children would be interested in carrying home
souvenirs.

(b) The shuttle made a slow, measured and safe landing
on the moon.
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(c) The children were escorted to the settlement at the
Neil Armstrong base.

(d) A gravitational force equivalent to that of the earth
was being artificially maintained at the settlements.

(2) (a) doubtful (b) genuine
(c) exit (d) animal
Q.4. (1) (a) Souvenirs-common noun
(b) force-abstract noun
Moon, Earth - proper nouns.
(2) (a) happy, pleasant. (b) slow, measured, safe.

Q.5. After welcoming the children, the receptionist gave them some
instructions. She explained that the gravitational force of the
moon is 1/6 that of the earth. In the human settlements the
gravitational force was artificially maintained, but outside, the
gravitational force of the moon was at work, hence the children
had to be very careful while roaming around. The receptionist
then told the children to do their shopping only from the shops
inside the dome shaped settlements and not to buy anything
from outside.

Extract - 2

Q.1. (1) True
(2) True
(3) False - The teacher had assigned a task of writing an

essay on how they spent their time on the moon.
(4) False- The gymnast jumped twenty-seven metres high.

Q.2. (1) Neil Armstrong.

(2) Toaplace of historical importance.
(3) Highjumps and longjumps.
(4) Seventytimes brighter.
Q.3. (1) (a) On the dark background of the moon sky, the stars

shone dazzling bright.
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Q.4.

Q.5.

(b) The second day’s attraction was the circus on the
moon!

(c) The first footprint of Neil Armstrong was
preserved on the moon land.

(d) Children fell asleep feeling happy, excited, and
comfortable at the same time.
(2) (a) moon (b) first (c) happily

Noun Verb Adjective
m attraction attract attractive
()] brightness brighten bright
3) beauty beautify beautiful
(4) excitement excite excited, exciting

On the third day, the teacher took the group to a place of
historical importance. It was where Neil Armstrong had landed
a hundred years ago. This had become a historical monument.|t
was the oldest place in the history of mankind on the moon. The
first footprint of Neil Armstrong was preserved on the
moonland. Beside the footprint was a grand statue of Neil
Armstrong. At the base of the statue were the following words :
“One small step for a man, one giant leap of mankind.”

Topic 2.3 : Abdul Becomes a Courtier

English Workshop :

Q.1.

(1) books, manuscripts, erudition, philosophy, astronomy,
Arabic, Persian, Scholar.

(2) silk, velvet, brocade, tailor, jacket.

(3) treasures, knowledge, Astronomy, Philosophy, Arabic,
Persian.

(4) patience, determination, aim, achieve, perseverance.
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Q.2. (1) His learning of books, his intelligence, his relations with
other people.

(2) The Emperor was right in saying that Abdul has great
talent. Yes, it tallies with his actions. Abdul used his talent
to help others. He used his brain power and fed the hens
and chickens without any expense. Abdul covered the
book with fabrics obtained from bags that were sent to
the king with formal requests. Abdul used his brain power
and his talent along with his intelligence to rise high in the
world.

Q.3.

Abdul
Agra,

India.
26th July, 2017

The Emperor,

Agra.

Sub: Application for job.
Respected Sir,

|, Abdul, have heard so much of your kindness and generosity to
everyone around you. | am in need of a job since | require money to
buy books in which | am very interested.

You may give me whatever job you wish to, | will do my best and
do the job to the best of my ability. | assure you, sir, that you will
find no cause to be dissatisfied with me and my work.

Sir, I pray for hearing from you soon.

Your obedient and loyal,
Abdul

Q.4. Here is a short story about Abdul, who won great name and
fame because he used his wits, brain power and perseverance to
help others and himself. Abdul wished to read books. He asked
his father to get him books, which his father could not do. He
went to a merchant and asked him to give him a job and in
return as a pay he asked if he could read the books in his store.
He was then employed at the ‘Murgikhana’ and became a
poultry keeper. He used his brain and gave the hens food and
leftovers from the kitchen. The Emperor was very pleased with
him and put Abdul in charge of the library. One year later when
the Emperor visited the library, he saw that the books had
beautiful covers made of discarded silk, velvet and brocade
bags. This proved to all that Abdul had wits, brains,
perseverance, patience and determination.

Q.5. (@) Tins can be decorated with pencil shavings and coloured
paper, to be used as pencil and pen holders or knife and
spoon holders.

(b)  Leftover cloth pieces from the tailors’ shops can be made
into bedsheets or covers.

(@  Coloured leftover paper can be used to make paper
lanterns.

Q.6. (1) | am very particular about my books. | see to it that they
are always covered. | change the covers if there is some
tear or ink mark on them. | never fold the pages, instead |
use a book mark. | pile up my books on the book-shelf
and do not let my books fall down or lie scattered
everywhere. | do not write on my text books with either
pen or pencil.

Books give us knowledge, we must take good care of
them.

(2) ‘Abrighter tomorrow’ means that in the future, things will
change for the better and our lives will become more
productive.
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3

4)

%)

6)

@)

®

9

(10)

“an

Abdul aspires to get more knowledge and learn from
books. He plans to do it by buying books and studying
them to attain success in the world.

Serve - deserve; clerk - work; care - rare - fair; store - more;
learned - yearned; Persian - million; notice - office; prayer
- rare; scholar - keeper; refuse - use.

The merchant uses these words ‘a gem’ to show Abdul
that he thinks of him as someone very precious and not
just anybody.

(a) You are indeed a gem. (b) quiterare

(c) sagacious (d) astute

Abdul must have asked the Emperor for a job in his library
since he had learnt philosophy, astronomy, Arabic and
Persian.

Abdul took scraps and shells and kitchen waste from the
Royal kitchen. This was enough for the hens. They
relished the taste. This was good for their health, hence
they looked well-fed and healthy.

The Emperor realised that Abdul had brains, when he saw
how his hens were faring so well. The Emperor put Abdul
in charge of his library for all the pains he had taken.

Yes, the Emperor was right. He knew that Abdul loved to
read. This was a heaven-sent chance for Abdul.

Formal requests were sent to the Emperor in bags made of
best fabrics. Abdul noticed that after the requests were
read, the bags were discarded. Abdul decided to collect
these bags of silk, velvet, brocade etc. and told the Royal
tailors to make jackets for the books in the library. The
tailors did not charge any money and Abdul got beautiful
jackets for the books.

This reflects the skill of maintaining good relations with
other people.
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Topic 2.4 : How Doth the Little Busy Bee

English Workshop :

Q.1. (D
3

Q.2.

old English for does

small space to store honey

(2) blooming

How doth the little busy bee How doth the little crocodile

(original) (parody)

Choice of subject (an animal) |Choice of subject (an animal)

Bee Crocodile

Number of lines and stanzas

8 lines, 2 stanzas

Number of lines and stanzas

8 lines, 2 stanzas

Same or similar constructions |Same or similar constructions

Different Makes you laugh

Tone of the poem
Loving, Goodness of bee is

Tone of the poem
Mischievous, funny
shown

Q.3. (1

2)

3)

(4)

5)

It is a hardworking insect that produces honey for man
with hardwork and perseverance.

The crocodile is out to get his meal. It stands for
cunningness and deceit.

The bee works hour after hour to produce honey and
store it. This honey is later used by man.

The crocodile actually does not work. It just lies there
pouring water on itself with its mouth open. This is done
to attract fishes into its mouth.

Actually both are not gentle - The bee can sting and the
crocodile can bite. However the bee is hardworking and
useful whereas the crocodile is lazy and dangerous.
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(6) The parody sounds funny because, the crocodile is
basically a wild and dangerous creature. The poem shows
the crocodile in a funny light; even his action of eating
fishes is described in a playful manner.

Q.4. -little « cheerful
* gently smiling

Q.5. | prefer the parody. It is funny and makes you laugh. You want
to read further and further in order to find out what joke the
poetis going to crack next.

Comprehension :

Extract - 1
Q.1. (1) shining hour (2) opening flower
(3  sweetfood (4) busybee
Q.2. (1) Honey (2) Skilfully
(3) Neatly (4) Sweetfood
Q.3. (1) hour-flower; cell - well. (2) ab,cb.
Extract - 2
Q.1. (1) little crocodile, little fishes  (2)  shining tail
(3) goldenscale (4) smiling jaws
Q.2. (1) Nile. (2) Littlefishes.
(3) Gently. (4) Neatly
Q.3. (1) Crocodile - Nile; tail - scale; grin - in; claws - jaws

(2) ab,ab.
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Topic 2.5 : Learn Yoga from Animals

English Workshop :
Q.1.

Attain

[(A) Benefits of Yoga

concentration

Helps us to focus
— and improve
flexibility

It helps us to get

It helps us to get
strength and solve
—| problems brought

(2) Precautions in
Yoga Practice

[(3) What is Yoga?]—

balanced
on by day to day
living.
Practise
i Practise
Practise Yoga asanas |.n a
. clean airy before
in front of a .
v well-lit room ||breakfast and
oga teacher _ .
with a level ||before dinner
floor
Integrated
system of
physical
Composite ||exercises that
A culture of P i
. practice help us to
physical, ) ) )
involving attain
mental, )
soiritual complete ||concentration,
Pt mind-body- || focus and
discipline .
soul complex improve
flexibility,
balance and
strength.
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Q.2.
Ans.

Ans.

Ans.

Ans.

BHUJANGASANA

(A)  Beginner’s pose or pose of a cobra

(B) Poseof acobra

(C) ltresembles the posture of a cobra with its head raised.
(D)  Steps and Picture : [Refer Text Book Page No. 38]

(E)  Benefits : It helps to tone the muscles of the back and
strengthen the spine. It benefits the chest and shoulders.

SIMHASANA
(A)  Namein English : Lion’s pose

(B) Meaning in English : Lion’s pose. It gets its name from the
way you stick your tongue out and hold your fingers
splayed out like a lion.

(@)  General information : Favourite with young people.
Assume the sitting position and facial expression of the
lion. Needs very little effort.

(D)  Steps and Picture : [Refer Text Book Page No. 39]

(E) Benefits : The lungs get emptied of impure air in the
shortest time possible.

MARJARYASANA
(A)  Namein English : Cat pose
(B)  Meaningin English : Popular cat pose

(@)  General information: Simple asana for beginners.
Stretches the muscles of the abdomen and back.

(D)  Steps and Picture : [Refer Text Book Page No. 39]

(E) Benefits : It gently stretches the muscles and gets rid of
any bodyache.

GARUDASANA
(A)  Namein English : Eagle pose
(B)  Meaningin English : Pose of the Eagle

(O  General information : A balance is maintained exactly like
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Ans.

Q.3.

Q.4.

Q.5.

the eagle does, balancing on one leg. The palms together
resemble the eagle’s beak.

(D)  Steps and Picture : [Refer Text Book Page No. 401

(E) Benefits : It enhances the body’s ability to balance itself.
It strengthens the leg muscles and improves the flexibility
of the joints by loosening the joint muscles.

USTRASANA

(A)  Namein English : Camel Pose

(B) Meaningin English : Pose of Camel

(C)  General information : Adds flexibility to the body

(D)  Steps and Picture : [Refer Text Book Page No. 41]

(E)  Benefits : Strengthens the back. It opens the shoulders,
chest and quadriceps. It helps to boost the mood and

energy. It adds flexibility and strength and improves
digestion.

Chest. shoulders, palms, head, vertebra, spine, eyes, jaws,
tongue, arms, fingers, palette, mouth, muscles, abdomen, back,
knees, elbow, hips, joints, calf, toes.

Physically, mentally, advisable, before, down, below,
completely, smoothly, slowly, behind, immediately, directly,
simultaneously, already.

(1) Yogawas perfected in ancient India.

(2) Yoga involves the complete mind-body-soul complex that
is a human being.

(3) Yoga helps to attain concentration and focus. It also
improves our flexibility, balance and strength.

(4) Biomimicry is the science of solving human problems with
solutions already present in the natural world.

(5) Yoga is a form of biomimicry, where in typical asanas or
poses, we emulate mountains, trees, fish, cats and so
many more animals.
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Comprehension :
Extract - 1
Q.1. (M-, @-b), -, D-(a
Q.2. (1) (a) Some posesshould be learnt from an instructor.
(b) Asanas should be practised in clean, airy places.
(c) Yoga helps us to feel physically vibrant and
mentally sharp.

(d) Yogaisaform of biomimicry.
(2) (1) emulate (2) vibrant

Q.3. (1) Toemulate (2) Yogaclasses
(3) Biomimicry (4) June21®
Q.4. Noun Verb Adjective
N Perfection Perfected Perfect
2) Simplicity Simplify Simple
3 Nature Naturalise Natural
(4) Sharpness Sharpen Sharp

Q.5. If we are beginners, we must begin our practice before a Yoga
teacher, or join a Yoga class to understand the dos and don’ts of
Yoga.We must take care to see that we are practising the
asanas in a clean, airy, well-lit room and we must use a Yoga
mat.

The best time to practise Yoga is in the morning before
breakfast and in the evening before dinner.

Extract - 2
Q.1. (1) Bhujangasana helps to tone the muscles of the back.

(2) We must place our plans on the sides just below our
shoulders.

(3) Wemust curve the spine wall.

(4) Simhasanais afavourite with young people.
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Q.2. (1) False-The naval must keep touching the ground.

(2) True.

(3) True.

(4) False-Breathein deeply as we slowly raise our heads.
Q.3. (1) (a)navel (b) tone

(2) (a)lowered (b)weaken (c)lightly (d)rough
Q.4. (1) favourite - Demonstrative adjective

(2) lie, relax

(3) (a)breath (b)completion (c)relaxation (d) smooth

Q.5. ‘Bhujangasana’ is a pose which resembles the posture of a cobra
with raised head.

In ‘Simhasand’ we assume the sitting position and facial
expression of a lion.

Extract - 3
Q.1.

[ (1) strengthens the back ]

|
Effects of Ustrasana
or Camel Pose to
our body
|
(3) opens the shoulders,
chest and quadriaps

(4) boosts mood
and energy

(2) improves
digestion

Q.2. (M-, @-(a), -, W-b)
Q.3. (1) (a) balance, eagle, enhances, flexibility
(b) arms, ease, palms, place
(2) (a) arms (b) loosening
Q.4. (1) slowly-adverb, left - adjective

(2) posture-common noun, flexibility - abstract noun
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Q.5.

M
2

©)]

4)

®)

6)
(7)

Kneel down and place our hands on the hips.

Our knees should be in line with the shoulders and the
sole of our feet must be facing the ceiling.

When we inhale, draw the tail bone towards the pubis as
if being pulled from the navel.

At the same time, we should arch our back and slide our
palms over our feet till the arms are straight.

We should not strain or flex our neck but keep it in a
neutral position.

Stag in this posture for a couple of breaths.

Breathe out and slowly come back to the first pose. Bring
the hands back to your hips as you straighten up.

Topic 2.6 : Chasing the Sea Monster

English Workshop :

Q.1. Unearthly animal, unknown creature, huge glow worm,
cetacean, whale lurking in the waters, blackish body, quivering
violently, its tail was creating a considerable current.

Q.2.

(@) Allnight long
(b) Near midnight
(© At1253

(d) Near two o’clock

(e) Until daylight
() Atsix o'clock/day break

(g) Atseven o'clock
(h) Ateight o'clock

(0 At 10.50in the evening

: The crew stayed on their feet.

: The huge animal disappeared.

: A deafening hiss was heard.

: The core of light reappeared
five miles away.

: The crew stayed on alert.

: The animal’s electric glow
disappeared.

: There was a dense mist.
Nothing could be seen.

: Mist disappeared. They saw
the monster astern to port

: The electric light disappeared
three miles from the frigate.

Q.3. Over twenty four hours.

Q.4.
Words Meaning
1. yard (a) | a pole slung across a ship’s mast. A sail
hangs from a yard.
2. mast | (b) | tall, upright pole on a ship.
3. bow (c) | the forward part of the main body of a ship.
4. deck (d) | a floor, flat area built on a ship.
5. | forecastle| (e) | the forward part of a deck.
6. |starboard| () | the right-hand side of a ship as one faces
forward.
7. stern (g) | the rearmost (back) part of a ship.
afterdeck | (h) [ an open deck near the back.
9. fore (i) |the part which is always at the front while
the ship is sailing.
Q.5. (1) Thestoryis written by Jules Verne

2)
3)
(4)

5)

6)

The narrator’s name is Professor Aronnax.
‘Abraham Lincoln’ is the name of the ship.

This event is taking place near midnight.

(a) the person who fires the cannon.

(b) the person who shoots or lets go of the harpoon.

(a) a barbed spear - like missile used for catching whales
and other sea creatures

(b) weapons.

The Commander must have told the captain of the frigate
to approach without making any sound and let go of the
harpoon at a distance of two cable lengths from the
monster.
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Comprehension :

Extract - 1

Q.1.

(2) Abraham Lincoln.
(4) Near midnight.

(1) Commander Farragut.
(3) Wholenight.

Q.2. (2) We gasped more stunned than afraid.
(1) Let’s wait for daylight and then we'll play a different role.
(4) Near midnight it disappeared.
(3) At 12:53, adeafening hiss could be heard.
Q3. (M M-b), @-), -(@, @@D-(.
(2) meanwhile, fearsome

Q.4. (1) (a)similar (b) brightness (c) unafraid (d) awake
(2) (a) Theanimal mimicked the frigate, didn’t it?

(b) A full circle was made around the frigate by the
monster.

Q.5. The crew of the frigate wondered who the unearthly creature
was. Its speed was double than that of the frigate. They were all
stunned and stood mute and motionless. The monster went
round the frigate, which was trying to flee instead of fight. Even
the commander, Farragut, was astonished. He decided to wait
for daylight before attacking the animal. No one slept, all were
on alert. The monster’s speed was alarming. Suddenly near mid-
night, the monster disappeared.

Extract - 2

Q.1. (1) About three-quarters of an hour.

(2) Commander Farragut.
(3) Forecastle cannon.
(4) $500.00.
Q.2. (1) Theanimal was faster than the Abraham Lincoln.

(2) Theanimal got up alittle speed, and kept its distance.
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Q.3.

Q.4.

Q.5.

(3) The frigate was speeding so much that its masts
trembled down to their blocks.

(4) Ned Land stayed at his post, harpoon in hand.
(1) (a) True.

(b) False - The chase went on for three quarters of an
hour.

(c) False - Ned Land stayed at his post, harpoon in

hand.
(d) True.
(2) (a) unconcerned (b) indirect
(c) further (d) earlier
(1) cannoner (2) steal off
(3) mate (4) gathered speed
It was an exciting chase no doubt. The author says that the

excitement shook his very being. The animal was so smart, it let
the frigate get a little closer to it and then picked up speed and
kept its distance. It was obvious that the frigate would never
catch up with the animal. The animal was playing tricks with
the frigate.

The cannoner fired a cannon but it did not even touch the
monster. Another man fired another cannon, it hit the target

but bounced off its hard shell.

Extract - 3
Q.1. (1) 100 feet. (2) At10:50in the evening.
(3) Intothesea. (4) Commander Farragut.
Q.2. (1) True
(2) True

(3) False-The monster seemed motionless.

(4) False-Thenarrator was hurled into the sea.

(24)
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Q.3.

Q.4.

Q.5.

(1) Theglow grew stronger and dazzled the eyes.

(2) Wasitasleep perhaps, weary from its workday?
(3) Aprofoundsilence reigned over the deck.

(4) Theweapon made aringing sound.
(1) The monster seemed motionless, didn’t it?

(2) Wealso struggled on tirelessly.

The frigate was waiting for the monster to show some signs of
weariness, but it did not. The frigate too, along with its crew,
went on tirelessly. At 10:50 in the evening the electric light
reappeared. The monster did not move, it just rode with the
waves. The frigate went towards it very quietly. As they
approached, the glow grew stronger. Ned Land was ready with
the harpoon and he launched it. It hit a hard surface and all hell
broke loose. The lights went out, two enormous water spouts
crashed onto the decks, toppling crewmen and breaking masts.
There was a collision and the narrator was hurled into the sea.

Topic 2.7 : Great Scientists

English Workshop :

Q.1.

(1) People know Faraday as a great scientist, but very few of
us are aware of the problems and difficulties Faraday had
to face in life. According to those who know nothing
about him, life must have been very easy for Faraday,
whereas actually Faraday went through many difficulties
and problem:s.

(2) Faraday became indispensable to Davy and was
promoted to the post of his lab assistant. This was his first
step towards a scientific career. Even then (In spite of
this), Davy had no hope for Faraday. He still felt that
Faraday was not going to do anything in life.

(3) Faraday became a celebrity scientist overnight. This man
had just created a revolution. Davy was the one who
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Q.2.

M

Q.3.

presented him to the world. This was the best discovery
that Davy gave the world.

(a) Michael Faradayisregarded ........ he just kept trying.
[Text Book Page No.49, 50.]

Ans. Faraday’s early childhood and life as a young man.

(b) Destinyhad astrangeplan ...... directed at Faraday.
[Text Book Page No.50, 51.]

Ans. Destiny’s plan for Faraday.

() Faraday became a celebrity.... difficult times. [Text Book
Page No. 51-52]

Ans. Faraday: alegend.

(d) He then took the age old experiment ...
discoveries. [Text Book Page No. 53]

Ans. Fortune favours the brave.

The passage is about famous, distinguished scientists and the
hardwork and perseverance that made them famous.

(1) Faraday was born in a poverty- stricken family in a dirty
London suburb. He suffered from a speech defect.
Everyone made fun of him. When he was twelve, his
mother was forced to take him out of school. This ended
his formal education.

At the age of thirteen, he started working with a book-
binder. Faraday was still poor at the age of twenty-one.

(2) (a) He could not think of anything else except reading.
He tried to give special time for reading.

(b) He was so much in awe of electricity. His whole life,
he thought of electricity and how to improve it.

(3) Faradays friend knew that Faraday was very much
interested in electricity and electrical lighting. The friend
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(4)
%)

6)
@)

®

¢))

(10)

“an

knew how poor Faraday was, and that he would not be
able to get the money for the ticket, hence he gave
Faraday a free ticket for this lecture and demonstration.

The subject was ‘the mysterious force of electric fluid.’

Faraday made comprehensive notes of Davy’s lecture on
the mysterious force of electric fluid, bound them into a
book, intending to gift it to Davy some day. Now Faraday
decided that he wanted to be a great scientist. Davy
became his role model. Faraday even thought that it
would be wonderful if Davy became his mentor.

mentor - guide.

A chemical explosion had taken place inside Davy’s lab,
which temporarily blinded him. Davy now needed an
assistant to help him. He was reminded of Faraday and
hired him as his secretary.

Davy was not fair in his treatment of Faraday. Davy
never believed that Faraday could do anything in the field
of science, going by his social status and education.

Faraday was relentless. He worked day and night and
learnt as much as he could about Davy’s experiments.
This was the first step towards his scientific career.

When an electric current is applied to a wire, it causes
that wire to behave like a magnet.

(a) Faraday solved the problem of the forces connected
to the wire and went further and the result was the
first induction motor which converted electric
current into continuous mechanical motion.

(b) One would think, that as a teacher, Davy would be
happy at his pupil's achievement, but in reality, he
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(12)

(13)

(14)

was jealous. He gave Faraday an impossible task to

keep him out of his way.
Fans, air-conditioning, sewing machines, photographs,
power tools, cars and even trains and aeroplane engines.
lf you moved a magnet, it could produce electrical
current. Thus, motion could be converted into electricity.
This is how the electrical generator was born. It is used
today to generate all kinds of power, like dynamos and
other device.

Faraday did not know much about advanced
mathematics, so he just copied the iron filing patterns
with his hand. He was unable to explain them in the form
of mathematical equations. He made hundreds of such
drawings but they were rejected.

Comprehension :

Extract - 1

Q.1. (1)
2
3

(4)

Q.2. (1)

2)
3)

4

He suffered from a speech defect as a child.
Faraday started working with a book-binder.

His friend gave him a free ticket to a public lecture and
demonstration by the famous chemist Humphry Davy.

Faraday is regarded as one of the most distinguished
scientists and inventors of modern times.

He started reading the book of electricity and was
completely hooked.

Electricity became a lifelong fascination for Faraday.

Michael Faraday was born into a poverty - stricken

family.

Other children laughed at him.
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Q.3.

M M-, @D-(, 3)-(d), @&@-b.

(2) (a)Faraday (b) good (c) produced

Q.4. (1) (a)speak (b) demonstrate  (c) invent

(2) (a)studious  (b) poor (c) fascinating
(d) productive

Q.5. Michael Faraday was born in a poverty-stricken family in a
dirty London suburb. He suffered from a speech defect as a
child. He could not even pronounce his own name. Other
children laughed at him and even his teachers did not help him.
When he was twelve, his mother was forced to pull him out
from school. This put an end to his formal education. At the age
of thirteen, he started working for a book binder.

Extract - 2

Q.1. (1) True
(2) False-Faraday was spellbound by Davy's lecture.
(3) False-Faraday was not dejected.
(4) True

Q.2. (1) M-, @-), -(a@, D-b)
(2) (a)remember (b) demoted

(c) dispensable (d) bad

Q.3. (1) Faradaybecame indispensable to Davy.
(2) The chemical explosion had temporarily blinded Davy
(3) Davydismissed Faraday’s aspirations.
(4) Davybecame Faraday’s role model.

Q.4. (1) Destinyhad astrange plan in store for him, hadn’t it?

(2) Anassistant was now needed by him.
(3) spellbound, bookbinding
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Q.5. There was a chemical explosion that occurred inside Davy's lab

and this made Davy temporarily blind. Davy now needed
Faraday to become his assistant. Davy made Faraday his
secretary. Faraday worked day and night and learnt as much as
he could about Davy’s experiments. Soon, Faraday became
indispensable to Davy and was promoted as his assistant. This
was the first step towards his scientific career.
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General Science

Topic 6 : Measurement of Physical Quantities

Q.1. (A) (1)

(B)

To express the magnitude of a physical quantity, a
value and a unit are used.

(2) A quantity that can be completely expressed by its
magnitude alone, is called a scalar quantity.

(3) The quantity that is expressed completely only
when magnitude and direction both are given is
called a vector quantity .

(4) The amount of matter contained in a substance is
called its mass.

(5) Massis the qualitative measure of the inertia of an
object.

(6) The gravitational force that acts on an object is
called the weight of the object.

(7) Standardized measures are required for
measuring things.

(8) The unit of time in M.KS. and C.G.S. system is
second.

(9 Centimetre is the unit of distance in C.G.S. system.

(10) Speed is the ratio of the quantities ‘distance’ and
‘time’.

(1) Timeis ascalar quantity.

(2) Weightis avector quantity.

(3) Unit of displacementin M.K.S. systems in m.

(4) 1 cubicfootis 28.317 litres.

(C) (1) False (2) True (3) False (4) False
(5) True (6) False (7) True (8) False
(@ True (10) False

(D) (1) Kilometre (2) Area (3) Speed (4) Weight

(B) M-, @D-(, D-(@, @-0), O)-(.
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Q.2. (A)

(1) Mass : The amount of matter present in a
substance is called its mass.

(¥)) Weight : The gravitational force that acts on the mass of

an object is called its weight.

OR
The gravitational force by which the earth attracts an
object towards its centre is called the weight of the object.

(3) Scalar quantity : A quantity that can be completely
expressed by its magnitude alone is called a scalar
quantity.

(4) Vector quantity : The quantity that is expressed
completely only when its magnitude and direction both
are given is called a vector quantity.

(5) Physical quantities : Quantities such as mass, weight,
distance, speed, temperature, volume, which are
measured are called physical quantities.

(B) )

Mass Weight
(i) |Mass is the amount of (i) | Weight of an object is the
matter contained in a gravitational force acting
substance. on the object.
(ii) | It does not change from @ii) | It is different at different
place to place anywhere places on the earth.

on the earth.

(iii)|Mass is a scalar quantity. (iii)| Weight is a vector quantity.

(iv) | Unit of mass in M.K.S. (iv) | Unit of weight in M.K'S.
system is Kg and in C.G.S. system is kg.m/s2 and in
system is gm. C.G.S. system is gm.cm/s2

(v) [Mass is measured using a | (v) [Weight is measured using a
beam balance or equiarm spring balance.

balance.

(44)
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Scalar quantity

Vector quantity

(i) | A quantity that can be (i) | A quantity that is expressed
completely expressed by its
magnitude alone is called
a scalar quantity.

completely only when
magnitude and direction
both are given is called a
vector quantity.

(i) | Length, mass, temperature | (ii) [Displacement, velocity,
are scalar quantities.

weight are vector quantities.

Q3. (A) (D

2

3)

0

(i)

@i

0

(D]

0

(D]

Measurements made by using the parts of the
body will differ from person to person, due to
the difference in the size of body parts.
Different results will be obtained when the
same thing is measured by different people.
Since measurements made by using parts of
body will neither be accurate nor uniform, it is
not proper to measure quantities bg using
body parts as units.

Many a times when we buy different
commodities, we may not get the correct
quantity for which we have paid and we are at
a loss.

In order to ensure that we get the correct
quantity of the commodity and are not
cheated during the transaction, it is necessary
to get the weights and measures standardized
atregular intervals.

Quantities which are independent of any
quantity or are not related to other quantities
are called fundamental quantities.

Speed is a ratio of two quantities, i.e. distance
and time.

(ii) Since speed is related to other quantities, it is
not a fundamental quantity.

(B) (1) Aphysical quantity which can be completely described by

Q.4.

2)

m

2

3)

its magnitude alone is called a scalar quantity.

For example, when we say that the mass of a body
is 100 grams, the length of a tunnel is 2 kilometres, only
magnitude i.e., their value 100 or 2 and the units grams
and kilometres give us the complete idea of mass of the
body and length of the tunnel respectively.

The quantity that is expressed completely only when
magnitude and direction both are given is called a vector
quantity.

For example, suppose an object covers a distance of 20
km. To know where exactly the object is, i.e., its
displacement, its direction should be mentioned. If the
direction is north, then the displacement of the object will
be 20 kilometres towards the north direction. Similarly,
to describe velocity of an aeroplane its magnitude and
direction both must be mentioned. If an aeroplane is
flying at a velocity of 500 km/hr towards Mumbai, then
the speed 500 km/hr i.e., its magnitude and its direction
is towards Mumbai, which also has to be mentioned.

Instruments used for measuring distances are scale, the
metre rod and the measuring tape.

Volume of liquids is measured using measuring cans or
jars and measuring cylinders.

The weight of an object is the gravitational force acting
on that object. Gravitational force of different planets is
different, therefore gravitational force exerted by
different planets on the same object will be different and
hence the weight of the same object is different on
different planets.
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There are two possible sources of errors in measurement -
not using the appropriate device and not using the device
properly.

Atomic clocks are the most accurate time and frequency
standards known and are used as primary standard for
international time distribution services to control the
wave frequency of television broadcasts and in global
navigation satellite systems such as GPS. In India, it is
kept in National Physical Laboratory, New Delhi.

The distance travelled by light in 1/299,792,458 of a
second is considered as a metre.

Q.5. (A) (1) (@@ Weight of a body is the gravitational force

exerted by the earth on the body.

(i) The shape of the earth is not perfectly
spherical. It is slightly flattened at the poles
and bulges at the equator.

(ii) So, the radius of earth at the poles is less than
that at the equator.

(iv) Gravitational force depends upon the earth’s
radius and it is inversely proportional to the
radius of the earth.

(v) Since the radius of earth is minimum at poles
and maximum at equator, the gravitational
force at poles will be maximum and minimum
at the equator.

(vi) Hence, weight of an object is maximum at
poles and minimum at equator.

(2) () Weight of an object is the gravitational force
acting on the object by the earth.

(i) Gravitational force is inversely proportional to
the distance from the centre of the earth.

(i) At higher altitudes, the distance from the
centre of earth is more than that at the sea-
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(B)

©

level. Hence, the gravitational force at higher
altitude is less than that at the sea-level.

(iv) Therefore, the weight of an object at a high
altitude is less than its weight at the sea-level.

Wrong methods of measurement are shown in figures 1, 2 and
3. In fig.1, a ‘hand-span’ is used for measurement. The
measurement would differ from person to person, as the size of
span of a hand is different for different persons and the
measurement will not be accurate.

In fig. 2, there is no scale marked on the glasses, so we will not
know the exact volume of liquid transferred.

In fig. 3, the measurement is not taken from the initial or zero
marking of the scale, so the person may make a wrong
measurement.

(1) Accuracy in measurement of a thing depends upon its
purpose and value.

(1) The mass of things like cloves, cardamoms, gold
and silver which are costly and are used in small
quantities is measured with great care and
accuracy.

(2) To measure such things, small units and very
sensitive instruments like a sensitive electronic
balance are used. If they are not measured
accurately, it will result in great loss.

(3) During chemical analysis or preparation of
medicines, when proportions of constituents have
to be determined as accurately as possible,
sensitive devices are required like standard
measuring flask or measuring cylinders or sensitive
balance.

(4) While drawing a geometrical figure, drawing a map
or while making machine parts that must fit into
one another, a difference of even a single millimetre

(48)

Std. 7 Navjeevan Term Book 2 : General Science




2

5)

M
2)

Mm

2

3)

(C0)

cannot be tolerated, as even a small error will
hinder the functioning in case of machines.
Similarly while drawing geometrical figures and
maps, we will not get the exact figures.

During prestigious sports events, difference of a
time interval of even a fraction of a second is
important when deciding the winner of a neck and
neck race. In such cases, the measurement of time
should be very accurate, which requires a sensitive
timer which can give the accurate time.

Not using the appropriate device.

Not using the device properly.

Things to be observed while buying from grocery
shops or at vegetable markets, so that you don’t
get cheated.

Whether the balance carries the stamp of
standardization by the department of weights and
measures.

Whether the balance is stable and whether the
pointer of the balance is upright or not.

Whether the weight is made up of a metal and the
balance is held properly.

Whether the underside of the pan of the balance
has been tampered or not.

Q.1. (A)

Topic 7 : Motion, Force and Work

*(M

*(2)

*(3)
*(4)

If a body traverses a distance in direct proportion to
the time, the speed of the body is constant.

lf a body is moving with a constant velocity its
acceleration is zero.

Speed is a scalar quantity.
Velocity is the distance traversed by a body in a
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Acceleration is the rate of change of velocity with
respect to time.

Rate of change in velocity is called acceleration.

A stationary body can be considered to have
constant speed.

A change in the shape or motion of an object occurs

if force acts oniit.

When a body returns to the starting point, then its
displacement will be zero.

Velocity is a vector quantity.

The shortest distance between the initial and final
point of movement of an object is called
displacement of the object.

Magpnitude of velocity is speed.

The velocity of an object at a particular moment of

time along a path in which it moves is called
instantaneous velocity.

Velocity has both magnitude and direction.

The velocity of a moving object decreases due to

frictional force.

Force is measured by the acceleration
produces.

that it

The C.G.S. unit of energy is Erg.

Force = mass x acceleration

acceleration = change in veIocitg/time.

If no force of friction is acting on a moving body, it
will keep on moving with a constant velocity.

lf a body of mass 1000 gm moves with an
acceleration of 2 m/s’, then the force acting on the
bodyis2 N.

50

Std. 7 Navjeevan Term Book 2 : General Science




2

(D) (1) False (2) True (3) True (4) False

(E) (1) Displacement (2) Erg (3) speed

w; m Group A Group B Group C

Work Joule erg
Force Newton dyne
Displacement Metre cm
Q.2. (A) (1) Work : Work is defined as the product of force and
displacement.

(2) Distance: The length of the path actually traversed by a
moving body, irrespective of the direction, is called
distance.

(3) Displacement : The minimum distance traversed by a
moving body in one direction from the original point to
reach the final point, is called displacement.

(4) Velocity : Velocity is the distance traversed by a body in
a specific direction in unit time.

(5) Acceleration : The rate of change of velocity is called
acceleration.

B) M)

Distance Displacement
(i) | Distance is the length of the | (i) |Displacement is the
path actually traversed by a minimum distance traversed
moving body. by a moving body from the
original point to the final
point.
(ii) | Distance is a scalar (ii) | Displacement is a vector
quantitg. quantity.

Speed Velocity
(i) | Speed is the distance (i) Velocity is the distance
covered by a body in unit traversed by a body in
time. specific direction in unit
time.
(ii) | Speed is a scalar quantity. | (i) [Velocity is a vector quantity.
(€))]
Velocity Acceleration
(i) | Velocity is displacement of a| (i) |Acceleration is the change in
body in unit time. velocity per unit time.
(ii) | The formula for velocity is (i) The formula for acceleration
given as is given as
Velocity = DisplcTcement Acceleratione Change? in velocity
Time Time
@iii)| Unit of velocity in M.K.S. |(iii)| Unit of acceleration in M.K'S.
system is m/s and in C.G.S. system is m/s’ and in C.G.S.
system is cm/s. system is cm/s”.
Q.3. (1) () Accordingto Newton’s first law of motion, if no force

2)

@i

D]

M

is acting on a body, the body will continue to move
with a constant velocity and in the same direction.

When talcum powder is applied on a carrom board
while playing, the friction between the carrom board
and the coin reduces.

As force of friction acting on the moving coin
reduces, it continues to move for a longer time if
talcum powder is applied on the carrom board.

Displacement is the minimum distance traversed by
a moving body from the original point to the final
point of movement.
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Q.4. (A)

(i)

D)

M

(i)

Gii)

(iv)

)
m

2

3)

(4)

%)

6)

When a body comes back to its original position
after covering certain distance, the displacement
between the original point to its final point of
movement is zero.

Hence, displacement of an object can be zero even if
its distance is not zero

Vector quantities are quantities which can be
described only if both magnitude and direction are
mentioned.

To move anything, we should know how much force
is required i.e., the magnitude of the force.

Moreover, to move the object to a specific position,
we should also know in which direction force has to
be applied.

Thus, to describe force completely, both magnitude
as well as direction are required.

Hence, force is a vector quantity.

Motion is the continuous change in the position of
an object with respect to the observer.
Force acting on an object causes a change in its
motion, as it can change the speed, direction or can
even bring the object to rest.
Speed is the distance covered by a body in unit
time.
Formula for calculating speed is :

Distance traversed

Speed =
Total time

When a body is moving along a straight line,
velocity of the body can change. The velocity of the
body at a particular moment of time is called
instantaneous velocity.

Yes, force is also a vector quantity as it requires
both magnitude and direction to be described.
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(B)

M

2

3)

(4)

Force : A football placed on a ground will not move until
and unless it is kicked i.e. a force is applied to the ball. The
moving football after some time will come to rest due to
force of friction between the ground and the ball. The
direction of the moving ball can be changed if it is hit from
a different direction. When its direction changes, the
velocity of the ball also changes. When the velocity
changes, the body is said to have acceleration. The
interaction that brings about the acceleration is called
force. Force is a physical quantity which changes or tends
to change the state of rest or uniform motion of an object
in straight line.

Work : By sitting and completing the homework for a
long time, we may become tired and feel that we have
done a lot of work. In this case no work is said to be done,
as there is no displacement. But while playing football,
work is done as there is displacement seen in
the football due to the force applied. So work is said to be
done only if the object to which force is applied is
displaced. Work done depends on both force and
displacement. Hence, work is a product of force and
displacement.

Displacement : When we have to reach a particular
destination, there can be different routes to reach that
place. The length of the route will be either short or long.
In this case, the shortest distance to reach the destination
has to be considered as displacement. Now if we come
back to the original place from where we started, then the
displacement will become zero.

So, displacement is the minimum distance traversed by a
moving body in one direction from the original point to
reach the final point.

Velocity : If a car is moving with a speed of 80 km/hr,
after certain time, it will be difficult for us to know where

(54)
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exactly the car is. But if it is mentioned that the car is
headed towards Pune, we can know the location of the
car. If speed is mentioned with direction, we can find the
velocity.

So, velocity is the distance traversed by a body in a
specific direction in unit time.

(5) Acceleration : While riding a bicycle with certain
velocity, you start pedalling the bicycle faster to attain a
maximum velocity, if the road is clear. But if there is
traffic, then you have to slow down the bicycle or may
have to stop the bicycle. Here the velocity of the bicycle
does not remain same. As the velocity goes on changing,
we say that acceleration takes place.

So acceleration is the change in velocity per unit time.

(6) Distance : Suppose your school is at a distance of 2 km.
from your home. The total length of the path you have
travelled from your home to school and then back home
will be 2 km + 2 km = 4 km. So the distance covered by
you will be 4 km.

Hence, distance is the length of the route actually
traversed by a moving body irrespective of the direction.

The total distance travelled by the bird is the length of the
complete circular path that it takes. Whereas its displacement is
zero as the bird comes back to its initial position from where it
took its flight.

Work is done in the (i) and (iv) activities as there is
displacement taking place in both the activities due to the force
applied. Work is said to be done only if there is displacement
due to the force applied.

Q.5. (A) (1) The actual distance traversed by Sachin and

Sameer = AB+BC+CD +DE
3km+4km+5km+3km
15 km

Velocity from A to E =

Displacement fromAtoE = AB+BD +DE
= 3km+3km+3km
= 9km
Total time taken = 1hr.
Speed = Total disFance _ 15km _ 15km/hr.
Total time Thr

Total displacement _ 9km

= = 9km/hr.
Total time Thr mihr

The total distance traversed by Sachin and Sameer = 15 km.
Displacement = 9 km, speed = 15 km/hr and velocity = 9 km/hr.
Yes, the velocity is average velocity.

(2) Distancetravelled = OA+AB

= 4km+3km
= 7km
Distance travelled by theboy = 7km
Displacement of the boy = OB
= 5km
Displacement of the boy = 5km

(3) () Thedistance covered by body AB + BC + CD + DA.

(ii) Displacement of the body is zero as the body
returns to the starting point.

Total displacement

(iii) Average speed = Total time

AB + BC + CD + DA
t+t+t+t,

Average speed =

(iv) Average velocity of the body is zero as the body
returns to the starting point and displacement is
also zero.

(4) Speedof theball at B (Initial velocity) = 2 cm/s
Speed of the ball at C (Final velocity) = 4 cm/s
Time taken = 2 seconds
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Change in velocity

Acceleration =
Time taken for change

Final velocity - Initial velocity

Acceleration -
Time taken

4 cm/sec - cm/sec

2sec

= lem/s®

The acceleration of the ball as it goes from B to Cis 1 cm/s’.

Ans.
B) (1) 1km=1000m, 1 hr=60x60=3600 sec ns
72km/hr = —7ZZL%OO m/s = 20 m/s (5) Given:
(2) (i) Totaldistancetravelled=120m + 120m =240m
(ii) Displacement = O (as the body returns to its initial
position)
(i) Average speed = Total dlstqnce travelled
Total time taken
@iii) Average velocity=0
(since the displacement is zero)
= % m/s = 24m]s Ans.
(3) Given: Mass(m)=25kg Q.6 A (')
Acceleration (@)= 1.2 m/s2 (i)
Force(F)="
Force = mass x acceleration
F =ma @iiD)
=25kgx 1.2 m/s”
=30 kg.m/s2 (iv)
=30 Newton.
Ans. Force applied on the object is 30 Newton.
(v)

(4) Given:

Force (F)= 1000 N
Displacement (s)=10m
Work done (W) ="

Work = Force x Displacement
W = Fxs
= TO000Nx 10m
= 10000 N.m
= 10000 Joule

The work done to stop the moving car is 10000
Joule.

Mass of cart (m)=20 kg
Force(F)=2N

Displacement of cart (s)=50 m
Work done(W)="?

Work = Force x Displacement
W = Fxs

= 2Nx50m

= 100 N.m

= 100 Joule

Work done by the force was 100 Joule.

Acceleration is the change in velocity per unit time.
The formula of acceleration is

Change in velocity

Acceleration = ,
Time

The unit of velocity in M.K.S. system is m/s whereas
that of time is second.
So, the unit of acceleration will be

1
s

m
s

m

S

m

2
S

.S

. . . 2
Therefore, unit of acceleration is m/s".
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(B) (a) (i) Formulaforspeedis
Speed = Distance
Time
(i)  Unit of distance in M.K.S. is m whereas that of time
is sec.
@iii) .. Unit of speed in M.K.S. system will be m/sec.
(b) (i) Formula for velocity is
. Displacement
Velocity = T
(ii)  Unit of displacement in M.K.S. system is m and that
of time is sec.
@iii) .. Unit of velocity in M.K.S. is m/sec.
(C) (@) The force due to the weight is applied on the
wooden block.
(i) Force can beincreased by increasing the weight.
(iii) On applying more force, the displacement of the
wooden block will increase.
(iv) When there is displacement in the wooden block
due to the applied force, work is said to be done.
Topic 8 : Static Electricity
Q.1. (A) *(1) Thereis always repulsion between like charges.
*(2) Displacement of negative charge is responsible
for generation of electric charge in an object.
(3) Alightning conductor is made of a copper strip.
*(4) Steel does not get electrically charged easily by
rubbing.
*(5) Thereis always attraction when opposite electric
charges come near each other.
*(6) A charged object can be detected with an

electroscope.

(B)

©
(D)
(E)

Q.2. (1)

2

3)

(7) All substances are made up of very tiny particles
called atom.

(1)  Electric chargeis an intrinsic property of atoms.
(2) Anatomis electrically neutral.

(3) When glass rod is rubbed against silk, positive
charge is developed on glass rod.

(4) Like electric charges show repulsion.
(5) Negative charges in an atom are moving.
(6) Amberiscalled electron in the Greek language.

(7) Thomas Browne named the property of amber to
attract things as electricity.

(8 Unlike electric charges attract each other.

(9) The ozone gas protects us from the harmful ultra
violet rays coming from sun.

(10) The number of positive and negative charges are
equal on an uncharged or neutral object.

M-, @-@, -, @@D-b).

(1)  copperrod (2) eboniterod (3) silk cloth

(2) Lightning conductor

(1)  Electroscope

3) Atoms.

(4) Protons (positive charged particles), electrons
(negative charged particles), neutrons (neutral
particles)

Repulsion : When two similar charged objects are
brought near, they move away from each other. This is
called repulsion.

Attraction : When two oppositely charged objects are
brought near, they get pulled towards each other. This is
called attraction.

Frictional electricity : The electric charge generated by
friction is called frictional electricity.
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When the positive charge and the negative charge
in the object are not balanced i.e. they are not equal
in number, then the object is said to be charged.

If the objects carry similar charges (like charges),
they will repel and if the objects carry opposite
charges (unlike charges), then they will show
attraction.

No, all objects do not get charged by rubbing.

Most of the insulators, which are bad conductors,
can be charged by rubbing. E.g., glass rod, ebonite
rod, plastic scale.

A charged object can attract an uncharged object.
Since the balloon is charged, it attracts the
uncharged wall when it is brought near the wall. So
the charged balloon sticks to the wall.

Lightning strike can set trees on fire and shatter
buildings. It can kill people and animals.

Tall buildings are fitted with lightning conductor to
prevent the possible damages caused by lightning.

The lightning conductor is a device used for
protection from a lightning strike. Its upper end is
pointed so that the charge gets concentrated at a
particular place when lightning strikes and can be
easily and quickly carried towards the ground. This
prevents any damage to the property.

Coal is porous and absorbs the salt water. It keeps
the surrounding area conductive. This helps to
spread the electric charge during lightning strike
quickly into the ground and prevents damage. So
coal and salt are added to the pit in the ground
where the lightning conductor is fitted.

(9 Yes, we can use leaves of other metals like
aluminium instead of gold in the electroscope. The
metal should be such that it can be beaten into
extremely thin leaves, so that it can detect even a
very small charge.

(B) (1) A plastic comb or ruler rubbed on dry hair develops
charge. Due to the charge developed on a plastic comb or
ruler, they attract pieces of paper.

(2) When we pass near a polyester curtain again and again,
opposite charges are developed on our body and the
polyester curtain due to rubbing. So the curtain gets
attracted towards us.

(3) When we rub a blanket with our hands, the blanket
develops negative charge. When this charged blanket is
taken near a metal object, the negative charge from the
blanket flows to the metal. That is why a spark is seen in
the dark when a charged blanket is brought near a metal
object.

Q4. (A) (1)

Charging by contact Charging by induction

(i) | The process of charging a| (i) | The process of charging a
body by actually touching a body by keeping it near
charged body is called (without touching) a
charging by contact. charged body is called

charging by induction.

@ii) | In this, charge moves from | (ii) | In this, no charge flows from
charged body to the the charged body to the
uncharged body. uncharged body.

(i) | In charging by contact, some|(iii)| In charging by induction, no
charge is lost by charged charge is lost by the charged
body. body.
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(iv)| Charge developed on the |[(iv)| Charge developed on the

uncharged body by contact
remains even when the
charged body is removed.

uncharged body by
induction is lost as soon as
the charged body is

removed.

B M

2

3)

0]

(D]

@iD)

(iv)

)
0]

(D]

D]

0]

(i)

D)

All substances are made up of particles and these
particles are made up of very tiny atoms.

An atom contains stationary positively charged and
moving negatively charged particles.

These two charges are equal in number, so they are
balanced in an atom.

As the charges are balanced in an atom, no net
charge is there on the atom.

Hence, an atom is electrically neutral.

Charge cannot be developed on metals as they are
good conductors.

If the objects are good conductors of electricity, the
charges will spread over their entire body and
attraction will not be seen, when they are brought
near uncharged objects.

Since copper is a metal and a good conductor,
charge cannot be developed on a copper rod.

If an electrically charged object attracts another
object, then the other object may be either
uncharged or oppositely charged, as unlike charges
attract each other.

Whereas if an electrically charged object shows
repulsion, then surely the other object will be having
charge similar to the electrically charged object, as
like charges repel each other.

Since repulsion is seen between like charges, it is a
sure test of electric charge.
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are shaken vigorously, the seeds try to move away
from each other, and stick to the bottle.

Reason : When thermocol balls or mustard seeds
in a bottle are shaken, they develop like charges,
whereas the bottle develops opposite charge.
Hence, thermocol balls or mustard seeds try to
move away from each other, but stick to the bottle.
This is because like charges repel each other and
unlike charges attract each other.

When a spent tubelight kept in dark is rubbed
vigorously with a thin polythene bag, sparks are
seen.

Reason : As the tubelight is rubbed vigorously, it
develops static electricity and gets charged.
Tubelight and polythene bag develop opposite
charges. As they get charged and attract each
other, sparks are seen in the dark.

When an uncharged aluminium ball is brought near
a negatively charged balloon, it gets attracted to
the balloon and comes in contact with it. Then after
some time, the aluminium ball and balloon repel
each other.

Reason : When an uncharged aluminium ball is
brought near a negatively charged balloon,
an opposite charge is developed and both get
attracted to each other. On touching, both become
similarly charged and repel each other as like
charges repel each other.

All substances are made up of very tiny particles
called atoms.

These atoms contain stationary positive charged
and moving negative charged particles.

(64)
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(i) These oppositely charged particles are equal in
number, so atom as a whole is neutral.

(iv) But due to certain reasons like rubbing, the balance
of electrically neutral atoms gets disturbed.

(v)  When certain objects are rubbed against each other,
the negatively charged particles on one object are
transferred to the other object.

(vi) The objects to which the charges are transferred
become negatively charged due to an excess of
negative charged particles.

(vii) Similarly, the object from which the negatively
charged particles get transferred become positively
charged due to deficiency of negatively charged
particles.

(viii) Therefore when two substances are rubbed, one
becomes positively charged and the other,
negatively charged.

The following steps should be taken for protection from

lightning :

() As far as possible one should try to remain indoors
during lightning.

(i) When you are inside your house, avoid using corded
landline phones.

(i) Do not use appliances that are plugged to the wall
like television, air conditioner, computer.

(iv) Avoid standing on wet surfaces.

(v) Do not stand near windows or in a balcony having
metallic railings.

(vi) If you are outside your house, do not stand under tall
trees, isolated trees, on open ground, near an electric
pole or a telephone pole.

(vii) If you are on a two-wheeler, a bicycle, a tractor or a
boat, get off immediately and go to a safe place.
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A lightning conductor is a device used for protection
from a lightning strike.

It consists of a long copper strip with one end forked,
which is placed at the highest part of the building
and the other part is connected to a plate of cast
iron.

A pitis dug in the ground, coal and salt are filled into
the pit and the iron plate is placed upright in the pit.

There is also a provision for pouring water into it.

All the above provisions help to spread the electric
charge quickly into the ground and prevent damage.

During rainy seasons, there are chances of lightning.

In open fields, lightning can prove to be dangerous
for a person, if it strikes.

Iron staff stuck in the ground by the farmers while
working in fields in rainy conditions acts as a
lightning conductor.

If lightning strikes in the field, the electric charge will
pass through the iron rod to the ground quickly and
thus can prevent any injury to the farmer.

Therefore, farmers stick an iron staff into the ground
while working in the field in rainy conditions.

Lightning occurs only when the negative charge
developed on the bottom of the cloud is much larger
than the charge on the ground.

This charge starts flowing towards the ground in
very fast stages and heat, light and sound energy are
produced along with the electric current.

This condition does not occur everyday during the
rainy season, and hence lightning is not seen
everyday in the rainy season.

@)
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Electrically charged objects attract uncharged
objects.

Like electric charges repel each other.

Unlike electric charges attract each other.

Damage caused by lightning :
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Lightning, if it strikes a person, can cause permanent
injuries, severe burns and can also be fatal.

It can destroy buildings, monuments, trees and can
cause fire and damage property.

Telephones, computers, television and other electric
devices can be damaged by lightning.

To create awareness, people should be told about the
various damages caused by lightning and the
precautions to be taken through various media like
television, newspapers, etc.

| will take the following measures to prevent the damages
caused by lightning :

M
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On hearing a thunder, | will avoid standing near a
tall tree, electric pole, high-rise building or any
metallic structure.

| will rush to a safe place such as low-rise house or a
building.

If I am travelling by a bus or a car, | will stay inside
and will shut the windows of the vehicle.

If I am inside the house, | will unplug the electronic
devices like television set, computer etc. and will not
use the corded phone.

| will avoid contact with running water.

| will not stand near windows or in balcony having
metallic railings.
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stay is fitted with a lightning conductor.

When air and clouds rub against each other, clouds
get charged and when a large amount of charge is
developed in the clouds, it starts flowing towards the
ground, which is seen as lightning.

During heavy rain, there is generally lightning or
thunder.

When we go out with an umbrella during heavy rain,
if there is lightning or thunderstorm, an umbrella can
increase the chances of being hit by lightning.

The electric discharge can pass through the metallic
rod of the umbrella and can give a severe shock to
the person carrying it.

So, it is not safe to go out with an umbrella when
there is heavy rain, lightning or thunder.

When there is lightning in the sky, the negative
charge that is developed on the bottom of the clouds
in large amount starts flowing towards the ground in
stages.

This happens very fast and heat, light and sound
energy are produced along with the electric charge.

During lightning strike, when an electrically charged
cloud comes over a tall building or a tree, it
generates opposite charge on the roof of the building
or on the top of the tree by induction.

If the charge built up is large, it leads to an electric
discharge in the form of light streak towards the
building.

This can shatter buildings or set a tree on fire.
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Topic 9 : Heat

*(1) Maximum heat is absorbed by a black coloured
object.

*(2) Radiation of heat does not require a medium.

*(3) Conduction of heat takes place through a good
conductor substance.

*(4) Theshining surface in a thermos flask decreases the

outgoing heat by reflection.

*(5) Cooking utensils are made from metals due to their
property of conduction.

*(6) The earth receives heat from the sun by radiation.
(7) White colour absorbs minimum heat radiations.

(1) Temperature of a substance is measured by a
thermometer.

(2) Mode of transfer of heat from the hot part of an

object to the cold part is called conduction of
heat.

(3) Heat is conducted quickly through copper than
throughiron.

(4) Thedensity of water decreases due to heating.

(M-, @-C), )-b), @W-(@, OG)-@.

(1) Reflection (2) Glass (3) Mercury

(4) Lead

(1) Thermometer (2) Black (3) Thermos flask

(4) Thermoware (5) Radiation (6) Infrared camera

(1) Conduction : The mode of transfer of heat from

the hot part of an object to the cold part is called
conduction of heat.

Temperature : The degree of hotness or coldness of a
substance is called temperature.

(3) Convection : The mode of transfer of heat by means of
convection currents is called convection of heat.
OR
Mode of transfer of heat in which the particles of the
medium absorb heat at the hot place and they themselves
move to transfer heat to the cold place is called
convection.
(4) Radiation : Mode of transfer of heat in which no
material medium is required is called radiation.
(5) Good conductor : A substance which allows heat to
flow easily through it is called a good conductor.
(6) Bad conductor : A substance which does not allow heat
to flow easily through it is called a bad conductor.
| M
Conduction Convection
(i) |Mode of transfer of heat | (i) [Mode of transfer of heat by
from the hot part of an means of convection
object to the cold part of the currents set because of
object is called conduction movement of particles is
of heat. called convection of heat.
@ii) [It generally takes place |(ii) |It takes place through
through solids. liquids and gases.
2
Convection Radiation
(i) |In convection, medium is (i) |In radiation, no medium is
necessary. necessary.
(ii) [ Convection currents set (ii) |Particles are not involved in
due to the movement of transfer of heat.
particles.
@iii)| It takes place through @iii) (It takes place through

liquids and gases.

vacuum.
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Heat is a form of energy.

Solar heat reaches the earth by radiation.

The flow of heat from a hot body to a cold body is
called transfer of heat.

Once the water heated to boiling is taken off the
flame, the supply of heat to the boiling water stops.
So the temperature of the water starts decreasing
i.e. the heat in the water heated to boiling slowly
decreases. This heat goes to the surroundings
which are at a lower temperature, as transfer of
heat takes place from hot body to cold body.

The modes of heat transfer are conduction,
convection and radiation.

The ability of a substance to absorb heat radiation
depends on its colour and also its intrinsic
properties.

During fever, a patient’s body temperature goes up.
When a cold compress is placed on his forehead,
heat is transferred from his body to the cold
compress. So fever get lowered by putting a cold
compress on the forehead of a patient.

The houses in Rajasthan are painted white because
the climate of Rajasthan is very hot. White colour
reflects maximum heat radiation, so it does not
become very hot inside the house.

The penguins of Antarctica have black outer coat
because black colour absorbs maximum heat
radiations, which keeps them warm and protects
them from the severe cold climate of the region.

Glass is a poor conductor of heat and its inner and
outer walls expand unequally when they are heated.

So, when boiling water is poured into an ordinary
glass bottle, the inner walls of the glass expand

2)
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rapidly as compared to the outer walls due to
unequal distribution of heat and the glass bottle
cracks.

But borosil glass bottles are made in such a way that
they can withstand high temperature.

So, they expand very little when boiling water is
poured into them and thus do not crack.

The telephone wires which sag in summer become
straight in winter.
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Telephone wires are made up of metal.

During summer, they absorb heat from the
surroundings and expand, so they sag in summer.

In winter when the temperature of the surroundings
goes down, the wires contract.

Hence, due to contraction, the wires which sag in
summer become straight in winter.

Atmosphere contains water vapour.

lts capacity to hold water vapour depends upon the
temperature of the surroundings.

During winter the temperature of the surroundings
goes down.

So, the water vapour in the atmosphere condenses
to form water droplets which settle on the cold
surface of the grass.

Hence, dew drops form on the grass, in winter.

Iron is a good conductor of heat and wood is a bad
conductor of heat.

When iron pillar is touched in winter, iron being a
good conductor of heat conducts away heat from
our hand and therefore it appears to be cold.

But wood being bad conductor of heat does not
conduct heat away from our hand and therefore the
wooden pole appears not to be as cold.
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Glass or China clay are bad conductors of heat
whereas steel or copper are good conductors of heat.

Therefore, glass tumbler or China cup full of hot tea
does not transfer the heat to our hand whereas steel
or copper cup transfers the heat from the hot tea and
hence we can hold a glass tumbler or China cup full
of hot tea easily in our hand, but not a steel or
copper cup with hot tea.
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Spoons are generally made up of metals and
metals are good conductors of heat.

While stirring hot substances, the heat is
slowly transferred from the hot end of the
spoon to the cold end.

This can burn the hand of the person holding
it.

So, in order to prevent getting burned, the
halwai wraps up cloth around the end of his
slotted spoon while stirring the boiling milk in
his large kadhai.

The moment hot milk is poured into the steel
glass, it becomes very hot as steel is a good
conductor of heat.

This can burn the hand of the person holding
it.

Handkerchief is a bad conductor of heat, it
prevents the transfer of heat to our hands and
thus protects us from burning our hand.

Hence we hold a steel glass in a handkerchief
while drinking hot milk from it.

Other examples : The handles of cooking
utensils are made up of wood or ebonite, we
use cloth or a tong to remove hot vessel from
the stove etc.
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White coloured clothes reflect most of the heat
that falls on them and we feel more
comfortable wearing them in summer.
Whereas dark or black coloured clothes
absorb more heat, so we feel comfortable with
dark or black coloured clothes in winter.
Woollen clothes have fine pores filled with air.
Wool and air both are bad conductors of heat.
In order to prevent the transfer of heat from
our body to the surroundings and to keep our
body warm, we wear woollen clothes in
winter.

When a railway track is laid, a small gap is
always left between two sections of a railway
line, so as to give some space for them to
expand during summer.

The rails of railway tracks are made up of steel
and they expand due to the considerable rise
in the atmospheric temperature during
summer.

If no gaps are left, the lines may bend and
cause derailment of trains.

Similarly in case of cement concrete bridges, a
gap is left as it may crack due to contraction in
winter or expansion in summer.

Mercury is used in a thermometer for the
following reasons.

It is a shining, silvery white liquid which can be
seen easily. It does not stick to the walls of the
thermometer.

It has uniform contraction and expansion.

(74)
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Its freezing point is -39°C and boiling point is
357°C. So it can be used to measure a fairly
wide range of temperature.

Alcohol is used due to following reasons.
Alcohol freezes at -117°C, so it is used for
measuring very low temperatures.

Expansion and contraction of alcohol are also
reqular.

It is less hazardous than mercury.

Thermoware are containers used for keeping
food hot.

These containers are made up of two boxes
fitted one inside the other.

The outer box is made up of plastic, a bad
conductor and the inner box is made up of a
shiny metal.

There is air between the two boxes, which is a
bad conductor too.

Therefore, heat is neither transferred by
conduction nor by convection.

Heat is reflected by the shiny inner surface and
heat loss due to radiation is also prevented.
The lid of the container is made up of plastic,
which prevents any transfer of heat.

(viii) So the food placed in a thermoware container

remains hot for a long time.

Properties of heat are :

0
(i)
D]
M

Heat is a form of energy.

Heat can be transferred from a hot body to a
cold body.

It can change the state of matter.

The mode of heat transfer that causes sea
breezes and land breezes in convection.
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During the day, the air over the land gets
heated up faster than that over the sea.

So the air over the land becomes lighter and
rises up.

Hence, the cold air from above the sea moves
towards the land. This sets up the convection
current which forms sea breeze.

During the night, land cools more quickly than
the sea water.

Therefore, the air above the sea being warmer
rises up and the cold air from land moves
towards the sea.

So the convection currents of cool air from
land towards the sea form the land breeze.
Heaters are fitted near the floor so that the
warm air near the heater rises up as it is lighter
and the cold air from above the room comes
down to take its place.

Thus convection currents are set up, which
warm up the entire room.

Similarly air conditioners are fitted near the
ceiling of a room, so that the cooled air from
the air conditioner being heavier moves down,
while the hot air from below rises up.

Thus a convection current is set up and the
whole room is cooled quickly.

Q.5. (1) When a metal ball which can just pass through a metal
ring is heated, it does not pass through it after heating.
But when cooled, it passes through the metal ring again.

Reason : Metals expand on heating, so the ball does not
pass through the metal ring. But when it is cooled, it
contracts and hence it again passes through the ring.

D
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(2) The pins nearest to the flame fall first and then the pins
fall one by one till the last one.

Reason : Transfer of heat takes place from the flame to
the rod, then from the hot end to the cold end of the iron
rod by conduction.

Q.6. Radiation of heat takes place from many objects in nature such
as trees, mountains, stones and roads. A camera has been
developed which uses these radiations to make our
surroundings visible at night. It is called an infrared camera.
Using the camera, it is possible to keep a watch on the
movements of the enemy during the night.

Q.7. Steel spoon, glass vessel, iron griddle (tava), glass, water and

WaX.
Topic 10 : Disaster Management
Q.1. (A) (1) The condition that arises due to long term and
severe scarcity of foodgrains and water is called
jamine.
@ A majority of the famines occurred in drought
prone and affected regions.
(3) Theworld’s mortality rate due to lightning is low.
(4) The temperature generated by lightning is higher

)

(6)
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than that of the sun.

Islands are created due to the eruption of
volcanoes in the sea.

A wave generated by an earthquake or volcano
occuring on the ocean floor is called a tsunami.

An earthquake is a sudden violent shaking or
movement of part of the earth’s surface caused by
the abrupt displacement of rock masses.

During lightning due to high rise in temperature,

the air under high pressure expands suddenly.
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When the balance between rainfall and population
is disturbed, water shortage starts increasing.

13" October is the International Day for Disaster
Reduction.

Drought can cause all of these.

Flood means an over_flow of water that
submerges land.

What is not required for the severe storms to

develop? Rainfall.

Tsunami can occur anytime in day or night.
Disaster management includes all of these.

What is drought? Shortage of water for an
excessive period of time.

Which of the following is a man-made disaster?
Road accident.

Earthquake under the sea is called tsunami.

(2) Drought (3) Locusts
(5) Flood

Railway accident

Volcano

False - Because storms are natural disasters and
can occur due to changes in the weather.

True - Because lightning may sometimes strike the
water and since water conducts electricity, nearby
lightning may harm or injure the person in water, it
can also be fatal

False - It is not possible to prevent the eruption of a
volcano as it is a natural event or natural disaster, it
takes place when the interior of the earth is very
hot.

False - Heavy rains result in flood. Famine is the

condition created by some human activities besides
some natural events.

G5
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(1) Disaster: Adisasteris asudden, calamitous event,
which causes great damage to life and property on an
overwhelming scale. Normal living is affected, and
immediate assistance and relief measures are needed.
Disaster management : It is an applied science which
seeks by the systematic observation and analysis of a
disaster to improve measures relating to prevention,
mitigation, preparedness, emergency response and
recovery.

Famine : The condition that arises due to long term and
severe scarcity of foodgrains and water is called famine.

Mm

Earthquake Volcano

O]

Earthquakes are caused by ()
interaction of tectonic
plates.

Volcanoes are caused by
movement of magma.

@ii)

@i

Storms may be associated |(ii) | Thunderstorm is a storm
with cumulonimbus clouds
and are accompanied by
sudden changes in
temperature and humidity

levels.

consisting of thundering
and lightning produced by
cumulonimbus usually
accompanied with rain and
sometimes with hail, sleet,
freezing rain or snow.

Earthquakes are vibrations (ii) | Volcanoes are fissures or

or tremors that shake the
earth.

vents in the earth which
allow molten lava and
gases to escape out on to
the earth’s surface.

(iii)| Earthquakes can cause (ii)|(Volcanoes can cause
damage by triggering damage by ash flow,
tsunamis and landslides. release of gases, mud flows,

lava flows etc.
(2)
Storm Thunderstorm
(i) |Storm can occur without | (i) [Thunderstorm will occur with

any lightning or thunder.

lightning and thundering.

(C) (1) Landslides are caused by disturbance in the natural

2)

3)

(4)

stability of a slope. Landslide may occur at the foot hill,
when masses of rock, earth or debris move down a slope.
This can happen after heavy rains. Mud slides, also
known as debris flows or mud flows are a common type of
fast moving landslide. Mudslides develop when water
rapidly collects in the ground and results in surge of water
soaked rock, earth debris. When we wait at the foot-hill
while it is raining heavily, mudslides may sweep down a
slope or we may be trapped in mudslides and this can be
dangerous. Sometimes it can be fatal. Hence we shouldn't
wait at the foot-hill while it is raining heavily.

Sometimes in cities the rains may not be very heavy, but
the drainage system is chocked with plastic bags due to
which water-logging takes place. The water does not find
any escape route, the levels start rising and the area gets
submerged. Hence the use of non-biodegradable waste
like plastic bags contributes to flood in cities.

As volcanoes erupt, they build up layers of lava that may
eventually break the water’s surface. When the top of the
volcanoes appears above the water, an island is formed.
While the volcano is still beneath the ocean surface, it is
called sea movement. Thus, due to eruption of volcanoes,
some islands are formed.

Swimming during thunderstorm may increase the chance
of getting struck by lightning when lightning strikes the
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water, and since water may conduct electricity, a nearby
lightning strike could kill or injure the person swimming in
pool. Hence, it is dangerous to swim in a pool during
thunderstorm.

Q3. (A) (1) O The best way to avoid being struck by

lightning is to stay away from storms.

(i) Always check the weather forecast before
heading outdoors.

(ii) If you notice that it may rain, be sure to arrive
home as soon as possible or cancel the event.

(iv) Even if there are no predictions of a storm,
keep an eye on the clouds, as the forecast is
not always accurate.

(v) Avoid open areas and tall objects.

(vi) Stay away from objects that may conduct
electricity.

(vi) Take shelterin a car or nearby places.

(2) Sometimes the water coming down from rain
clouds does not reach the land in the form of rain.
Instead due to very high temperature near the land,
it vapourizes and goes back into the same cloud. As
a result, the amount of vapour in those clouds
becomes very high. Due to rapid condensation, it
rains suddenly over a specific and small region at a
rate of 100 mm per hour or more. This is known as
cloud burst.

(3) (@ Planned usage of water and reuse of water.

(i) Proper planning of water conservation and
harvesting at the local level.

(i) Large scale plantation of trees and prevention
of deforestation.

(iv) Making appropriate changes in plans taking
into account the weather forecasts.

B’ M

(v) Compose a variety of slogans and use them
during ‘Environment Awareness’ rallies or
programmes.

(4) (@ The chemical substances such as lava, vapour,
hot mud, sulphur, etc., get collected on the
surface of the earth and thereby mountains
and hills are created.

(i) The atmosphere gets polluted due to ash and
gases due to volcanic eruption.

(ii) Often it rains as a result of volcanic eruption.

(iv) Temperature rises due to hot gases.

(v) Forests and settlements get buried under the
hot mud.

(a) Storm : A violent disturbance of the atmosphere
with strong winds usually accompanied by rain,
thunder, lightning or snow is called storm.

Remedial measures:

() Regularly cut down trees or branches that are likely
to fall and cause damage.

(i) If we are outside take shelter in a safer place.

(ii) Do not use plugged in electrical appliances.

(iv) Listen to the radio or check for reqular updates on
weather conditions.

(v) Fix the drainage system in your yard to prevent
stagnation and flooding of water.

(vi) Establishing construction requlations which will help

build more resistant structures. Specially in zones at
risk because of the exposure to violent winds, etc.

(vii) Establishing well trained and equipped rescue and
management teams for rescue management teams
for rescue, assistance and preventive measures
which are needed to respond to the different types of
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storms. trained in the preventive, assistance and
rescue measures needed to respond to the different
type of storms, during storm.

(viii) Protect yourself from lightning by keeping away
from metal objects, switching off the electricity
supply, T.V,, telephone, etc.

(ix) Keep calm and do not panic, do not spread rumours,
check to see if there are people nearby who are
wounded or in difficulty and assist them.

(x) Collaborate, with the rescue and assistance service
and help vital priority repairs and rehabilitation
work if required.

(b) Lightning strike : Lightning is a sudden
electrostatic discharge that occurs during a
thunderstorm. This discharge occurs between
electrically charged regions of a cloud, between two
clouds or between a cloud and the ground. The
charged regions in the atmosphere temporarily
equalize themselves through this discharge referred
to as a strike or lightning strike.

Remedial measures:

() Avoid electronic equipment of all types. Lightning
can travel through electrical systems like radios,
televisions and other electronic gadgets.

(i) Do not try to walk or swim in a flowing water,
ponds, etc.

(i) Lightning may cause fire. Prepare the appropriate
fire-fighting equipments.

(iv) Stay away from windows and metal doors.

(v) Stay away from concrete floors or walls. Lightning

can travel through metal wires or bars in the
concrete walls or floorings.
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(vi) Avoid water during thunderstorm. Lightning can
travel through plumbing.

(vii) Do not use plug in electrical appliances. Do not use a
mobile or telephone.

(viii) Wear rubber boots, as they are made of rubber
material which is a bad conductor of electricity.

(i) Install a lightning rod or lightning conductor to
safequard your property and family.

(c) Famine : The condition that arises due to long term
and severe scarcity of foodgrains and water is called
famine.

Remedial measures:

()  Planned usage of water and reuse of water.

(i) Proper planning of water conservation and
harvesting at the local level.

(i) Large scale plantation of trees and prevention of
deforestation.

(iv) Making appropriate changes in plans, taking into
account the weather forecast.

(v) Implementing many schemes such as water storage
scheme, water harvesting schemes to overcome
famine.

(vi) Using modern science like genetic engineering in
order to stop pest attacks and kill insects and
destroy animal diseases, and fixing low yields are
some solutions to beat famine.

(vii) Farmers should make use of developed machinery
and should be trained to cultivate their lands on
scientific basis.

(viii) Connecting farmers to markets directly, this reduces
poverty and gives farmers the income necessary to
purchase their food.

(84)
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(ix) Ordinary people can help to end famine simply by
spreading awareness and contacting their friends,
families and legislators. Such awareness can put
pressure on legislators to implement programs that
combat famine.

(x) Individuals and groups in stressful situations will
attempt to cope by rationing consumption, finding
alternative means to supplement income, etc.

(d) Cloudburst : This phenomena occurs due to a
sudden down pour of rain over a limited area. The
water coming down from rain clouds does not reach
the land in the form of rain, instead due to very high
temperature near the land, it vapourizes and goes
back into the same clouds. As a result the amount of
vapour in those clouds become very high. Due to
rapid condensation, it rains suddenly over a specific
and small region at a rate of 100 mm per hour or
more. This is known as a cloudburst.

Remedial measures:

() Introduce better flood warning systems in advance,
warning and preplaning can significantly reduce the
impact of flooding.

(i) Modify homes and businesses to withstand floods.
Waterproofing homes and businesses and moving
electric sockets higher up the walls to increase
resilence.

(iii)  Construct buildings above flood levels. Conventional
defenses have to be supplemented with more
innovative methods of constructing buildings to
lower the risk of future disasters.

(iv) Tackle climate changes. Climate change has
contributed to a rise in extreme weather events.
Governmentsfrom 195 countries pledged to “pursue
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efforts” to limit the increase in the global average
temperature to 1.5°C.

(v) Increase spending on flood defenses. Spending on
flood defenses should be increased by the
Government.

(vi) Protect wetlands and plant trees strategically. The
creation of more wetlands which can act as sponges,
soaking up moisture and wooded areas can slow
down waters when rivers overflow.

(vii) Restore rivers to their natural course. Remeandering
straightened rivers by introducing their bends once
more, increases their length and can delay the flood
flow and reduce the impact of the flooding down
stream.

(viii) Introduce water storage areas.

(i) Improve soil conditions. Well drained soil can absorb
huge quantities of rainwater, preventing it from
running into rivers.

(x)  Put up more flood barriers. The environment agency
uses a range of temporary or “demountable”
defenses in at risk areas. These can be removed
completely when waters recedes.

Tsunami is a Japanese word which means ‘harbour wave’.
The phenomenon is usually associated with an
earthquakes, or volcanic eruptions in oceans causes a
sudden movement of the water column moving upwards.
As a result a peculiar wave is formed, such a wave
generated by an earthquake or volcano occurring on the
ocean floor is called a tsunami.

If an earthquake or volcanic eruption occurs at the
bottom of the ocean the energy released pushes the water
upwards in the form of water columns. As a result of this,

&)
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a peculiar type of waves are formed. These waves are not
very high near the source, but they start spreading very
fast to long distances. The velocity of the waves is 800 to
900 km per hour. When they reach the coastal area, their
velocity is reduced, but their height is found to have
increased to about 30 metres.

Effects of Tsunami :

()  Buildings and other constructions are destroyed.

(i) Thereis alarge scale loss of life and finance.

(i) Boats and ships near the coast get damaged.

(iv) Trees get uprooted, landslides take place on a large
scale.

(v) Changes takes place in the original land near the
coast giving rise to a swamps.

(vi) Traffic obstructions arise.

(vii) The business industry related to the sea are

adversely affected and normal day-to-day life is
disrupted.

(viii) Large scale damage is caused to harbours and ports
and industries related to it.

An earthquake is a sudden, violent shaking or movement
of a part of the earth’s surface caused by the abrupt
displacement of rock masses, usually within 10 - 20 miles
deep below the earth’s surface.

A severe earthquake can destroy roads and buildings and
cause the sea to rise in huge waves.

If an earthquake and volcanic eruption occur at the
bottom of the ocean or sea, the energy released pushes
the water upwards. As a result of this a peculiar type of
wave is generated this gives rise to a tsunami.
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Measures taken to deal with calamities like floods :

(0 Construction of small dams in mountainous region.
A dam is a barrier that stops or restricts the flow of
water or underground streams and thus prevent,
flooding.

(i) Construction of percolation tanks.

(i) Makingriver beds flat.

(iv) Cultivation of new forests.

(v) Connectingrivers.

(vi) In cities, use of non-biodegradable items should be
minimised and garbage disposal should be well
managed.

(vii) Improve flood warning mechanism.

(viii) Government of Maharashtra introduced Disaster
Management training programme in 100 schools
and every district to deal with calamities such as
floods.

(ix) Disaster Management programme in Maharashtra
lays down uses of ICT (Information Communication
Technology), digitisation of the disaster
management and the use of GIS (Geographic
Information System) in hazard risk mapping.

(x)  Preinformation of floods is generally given by the
Government well in advance. People should be
mentally prepared to move immediately if necessary.

Measures taken to deal with calamities like
landslides :

() Vegetation cover protects land from landslides, and
soil erosion.

(i)  Afforestation - trees should be planted on slopes to
prevent soil erosion.

&)

Std. 7 Navjeevan Term Book 2 : General Science




(4)

D)

(Giv)

(V)

(vi)

Groundwater can be drained from soil using trenches
filled with gravel and perforated pipes or pumped

water wells.

Landslide mitigation refers to construction and other
man-made activities on slopes with a goal of
lessening the effect of landslides.

During constructing buildings on a slope, designs
that suit the natural slope should be adopted.
Vegetation and large trees should not be removed.

Provisions should be made at community level to
prevent people from excavating, removing materials
from the soil or cutting down trees.

With reference to disaster management things to
be checked in house:

0)

@ii)

(i)

(iv)

)

(vi)

Location : Check the location of your electrical
switchboard, gas connection, water supply, solar
inverter and any other relevant sources.

Potable water : Check for drinking water, keep
atleast 3 gallons each per person at home.

Food : Check your food supply and store non-
perishable foods like canned food, biscuits etc
which do not require refrigeration.

Medication : Have some extra medication on
hand for times when disaster strikes and you
cannot leave your home to refill your prescription.

First aid kit : It should have latex gloves, gauze
pads, a thermometer, bandages, band-aids,
antiseptic ointment, hand sanitizers and instant
cold packs, etc.

Tools and supplies : This include items such as
candles, matches, scissors, tweezers, a sewing kit, a
flash light, extra batteries, a small fire extinguisher,
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a knife etc. Be sure to also have a map of the area in
case you need to look for a shelter.

(vii) Hygiene products : Toilet paper, soap etc.

(viii) Cleaning products : Eg., rain gear, work boots or

(ix)
(x)

(xi)

durable sneakers and thermal underwear, soap,
disinfectant, garbage bads etc.

Clothing.

Important documents and items : Includes
cash, driver license, passport, security card, bank
account numbers, and a list of important and
emergency phone numbers.

Miscellaneous items : Baskets, sleeping bags,
paper cups, paper plates and plastic utensils.

)
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History : Part 1
Unit - |
Topic 5 : The Foundation of the Swaraj

(1)  Shivneri (2) Deccan (3) Nizamshahi
(4) fort (5) Maval (6) Rajgad
(7) Nizamshahi (8) Pratapgad (9) Bengaluru
(10) Javali (11) Konkan (12) Swarqj

(13) Bajiprabhu Deshpande (14) Shaistakhan

(1) Murumbdev (2) Afzalkhan

(3) Theforts of Torana, Murumbdev, Kondhana

(4) (D Yesaji Kank (ii) Baji Pasalkar

(5) Rajgad (6) Kalyan and Bhivandi
(7) Chandrarao More

(8 Chhatrapati Shivaji Maharaj

(1)  Adilshah of Bijapur
(3) Khelna

(4) BadiSahiba (the administrator of Adilshah)
(5) Shahgjiraje

M-, -,
(1) Bengaluru
(3) Sindhudurg
(5) Afzalkhan

(2) Founding of Swaragj

(3-0), @A-(a), ©O)-(d.
(2) Jadhavas of Phaltan

(4) Baji Ghorpade

The Mughals launched a campaign to conquer the
Nizamshahi kingdom.

Chhatrapati Shivaji Maharaj created a feeling of trust
and affection in the minds of the people.
Yesaji Kank, Baji Pasalkar, Bapuji Mudgal, Narhekar,

Deshpande brothers, Kavji Kondhalkar, Jiva Mahala,
Tanaji Malusare, Bajiprabhu Deshpande, etc., were the
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associates and companions who joined Chhatrapati
Shivaji Maharaj in his work of the founding of Swara;.

Chhatrapati Shivaji Maharaj captured the forts of
Murumbdev, Torana, Kondhana and Purandar.

Mores of Javali, Ghorpades of Mudhol, the Sawants of
Sawantwadi and some other Sardars were in Adilshahi.

Some of the Sardars opposed the cause of the founding of
Swaraj. So it was necessary to bring them under controls.

Chandrarao More opposed the cause of the founding of
Swaraj.

Siddi showed no signs of relenting, so Chhatrapati Shivaji
Maharaj opened talks with Siddi. This led to slackness in
the siege around Panhalgad. Chhatrapati Shivaji
Maharaj took advantage of the situation and escaped
from Panhalgad.

Chhatrapati Shivaji Maharaj paid compensation to the
soldiers who were wounded in the battle. He rewarded
those who had fought well. Those soldiers and officers of
Afzalkhan’s army who fell into the hands of Chhatrapati
Shivaji Maharaj's army were given a good treatment.

After capturing Kalyan and Bhiwandi on the Konkan
coast, Chhatrapati Shivaji Maharaj came into contact
with the Siddi, Portuguese and British powers on the
Western coast. Chhatrapati Shivaji Maharaj realised that
in order to fight these powers, it was necessary to have a
strong naval force. So he concentrated on building a
navy.

When the conflict with Adilshahi was continued, Mughal
army invaded the Swaraj. Chhatrapati Shivaji Maharaj
realized that it was not wise to fight two enemies at one
and the same time. Therefore Chhatrapati Shivaji
Maharaj entered into a treaty with the Adilshahi.

)
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The Mughals had launched a campaign to conquer the
Nizamshahi kingdom. The Adilshahi of Bijapur allied with
the Mughals in the campaign. Shahagjiraje tried to save
the Nizamshahi by offering a strong resistance to the two
enemies. But he could not withstand both the mighty

powers. So Nizamshahi was defeated and came to an end
in 1636 C.E.

The Maval terrain was full of hills and valleys and was not
easily accessible. Chhatrapati Shivaji Maharaj made use
of these geographical features of Maval very skilfully for
the purpose of the foundation of the Swaraj.

In those days forts were of special significance. It was
possible to control the surrounding area if one had forts.
Therefore Chhatrapati Shivaji Maharaj decided to
acquire the forts that were within his own Jagir.

Shahaji Maharaj himself aspired to establish Swaraj by
ousting the powers of foreign people. He wished to enable
Shivaji to become a king. So he had arranged for
providing excellent education to Shivaji. That is why he is
termed as a Swaraj visionary.

Shahaijiraje : He was the father of Chhatrapati Shivaji
Maharaj. He was a pre-eminent Sardar in the Deccan. He
was valiant, courageous, intelligent and a great political
expert. He loved his subjects. Adilshah of Bijapur had
given the region comprising Pune, Supe, Indapur and
Chakan Pargana to Shahdjiraje as a Jagir. Shahajiraje
himself aspired to establish Swaraj, so he made an
arrangement of excellent education for Shivaji to enable
him to become a king.

The efforts Veermata Jijabai took for Chhatrapati
Shivaji Maharaj’s education : Jijabai constantly
guided Chhatrapati Shivaji Maharaj in the mission of
establishing Swaraj. She instilled in him values like

modesty, truthfulness, oratory, vigilance, courage and
fearlessness. She saw to it that he knew the usage of
weapons. She inspired in Chhatrapati Shivaji Maharaj the
“will to win” and the dream of Swaraj.
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Topic 6 : Conflict with the Mughals

(1) Swaraq; (2) Chhatrapati Shivaji Maharaj
(3) Chakan (4) Shaistakhan

(5) Bengal (6) Chhatrapati Shivaji Mahara;
(7) Pune (8) Gagabhatta

(9 South (10) Vyankoji

(11) Jinji

(1) Jaisingh (2) Treaty of Purandar

(3) Chhatrapati Shivaji Maharaj

(4) Ahmadnagar and Junnar

(5) Sabhasad (6) Qutubshah
(1) Mathura (2) Twice
(4) Chhatrapati Shivaji Maharaj
(5) FirangojiNarsala

(M-, @-(@, B)-(d), @D-b.
(6) Shaistakhan’s invasion (2) Raid on Lal Mahal
(5) Treaty of Purandar
(4) Coronation

(3) Tanjavur

(3) Escape from Agra

(1)  Southern campaign of Chhatrapati Shivaji Maharaj
(1) Sindhudurg (2) Siddilbrahim
(1) Rajya-vyavahara-kosha (2) Moropant Pingale
(3) Daudkhan (4) Surat

Shaistakhan lost his finger in the raid of Lal Mahal in
1663 C.E. by Chhatrapati Shivaji Maharaj.
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Chhatrapati Shivaji Maharaj devised a plan of attack on
the rich city of Surat.

Chhatrapati Shivaji Maharaj was accompanied by Prince
Sambhaji and a few of his trusted people.

The famous library ‘Saraswati Mahal’ is at Tanjavur.

Surat was a rich city, a large trade centre and a big port
under the Mughal control. So Maharaj attacked the city
of Surat.

Jaisingh proposed to Maharaj that he should visit Agra
and meet the Emperor Aurangzeb.

As a symbol of sovereignty, Rajyabhisheka shaka i.e. the
Coronation Era was started.

A gold coin called ‘Hon’ and copper coin called ‘Shivrai’
with the legend ‘Shri Raja Shivachhatrapati’ inscribed on
them.

After the coronation, all the royal correspondence carried
the words ‘Kshatriyakulaavantansa Shri Raja
Shivachhatrapati’.

Maharaj obtained a huge amount of wealth from Surat.

The campaign of Surat was a stunning blow to Emperor
Aurangzeb’s prestige.

Shaistakhan ravaged the territory of the Swaraj by
sending small units of his army to the neighbouring areas.
He encamped at Chakan and captured the fort of
Chakan. He set up his camp in Lal Mahal, for two years.
His forces looted the people. This had an adverse effect
on the people’s morale.

Sinhagad, Purandar, Lohagad, Mahuli, Karnala and

Rohida were the forts Shivaji Maharaj recaptured after he
came back from Agra.
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Jaisingh, suggested starting a naval campaign against

Chhatrapati Shivaji Maharaj to the Portuguese of Goa

and Vasai, the Dutch of Vengurla, the British of Surat and

the Siddis of Janijira.

The terms of the Treaty of Purandar were as follows.

(1) Maharaj had to give his twenty-three forts to the
Mughals.

(2) The adjoining territories yielding an annual revenue
of four lakh hons.

3 Maharaj also assured the Mughals help against
Adilshahi.

Jaisingh ravaged the territory of the Swaraj. Jaisingh and
Dilerkhan laid siege to Purandar Fort. Murarbaji fought
with the greatest of courage. He died a hero’s death.
Considering the seriousness of the situation, Maharaj
entered into the Treaty of Purandar.

Shaistakhan had ravaged large territories of the Swaraj
for three years. So it was necessary to make up the losses.
So Chhatrapati Shivaji Maharaj took an aggressive stand
against the Mughals.

Shaistakhan had lost his fingers during the raid on Lal
Mahal. Because of this, he suffered great humiliation so
he shifted his camp to Aurangabad.

Jaisingh and Aurangzeb felt the need to keep away
Chhatrapati Shivaji Maharaj from the Deccan politics at
least for sometime. Jaisingh proposed to Chhatrapati
Shivaji Maharaj that he should visit Agra and meet the
Emperor. He guaranteed the safety of Chhatrapati Shivaji
Maharaj. That is why Chhatrapati Shivaji Maharaj set
out for Agra.

)
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The Coronation of Chhatrapati Shivaji Maharaj :
After a relentless struggle for over thirty years Mahara;
decided to coronate himself. He realised that it was
necessary to recognise the Swaraj as a sovereign
independent state. For this a formal coronation was
necessary. Chhatrapati Shivaji Maharaj coronated
himself by alearned Pandit at Raigad on 6th June 1674.

Escape from Agra : Aurangzeb did not treat
Chhatrapati Shivaji Maharaj with honour. So
Chhatrapati Shivaji Maharaj gave vent to his rage. Then
Aurangzeb put him under house arrest. So Maharag;
devised a plan. He adroitly escaped from Agra along with
Prince Sambhaji and his associates. After few
days, he reached Maharashtra and then at Rajgad safely.
He had left Sambhaji Raje at Mathura, later Sambhaji
was brought safely to Rajgad.

Chhatrapati Shivaji Maharaj’s campaign of the
South : In October 1677, Chhatrapati Shivaji Maharaj
undertook a campaign of the South. He entered into a
treaty of friendship with Qutubshah of Golconda. Later
he won Bengaluru, Hoskote in Karnataka. He won the
forts of Jinji and Vellore in today’s Tamilnadu. He also
won some territories of Adilshah in the South. Maharaj
annexed the fort of Jinji to his Swara;j.

Chhatrapati Shivaji Maharaj’s preparation for the
coronation : An extremely valuable and grand throne
was made for the coronation of Chhatrapati Shivaiji
Maharaj. There were eight bejewelled pillars on eight
sides of the throne. This throne was made of thirty-two
‘mann’ of precious gold. Without measuring and
counting, plenty of money, clothes, elephants and horses
were donated to the great scholars who had come to
attend the coronation ceremony from different regions.
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Topic 7 : The Administration of the Swaraj

Q.1. (A) (1) DakshinDigvijay (2) eight (3) Agriculture
(4) Artists (5) 300 (6) Agriculture
(7) Konkan (8) salt
(9) Sindhudurga (10) 400 (11) Sarnobat
(12) industries (13) Shiledars
(14) intelligence (15) forts (16) Bahirji Naik
(B) (1) Ajnyapatra (2) Infantryand Cavalry
(3) Thebargir (4) Sarnobat
(5) The Conquest of the South
(6) Avillage (7) Hawaldar and Jumledar
(8 Sindhudurg (9) Intelligence department
(10) Ashtapradhan Mandal
(11) Karkhanis
€ B (1) Govandi (2) Gulvan (3) Raigad
an (1) Patil (2) Deshpande (3) Bargir
M O M-, @D-, -(@, @D-(D).
a M-, @-, -, @@D-b.
(E)
[ Military Organisation ]
v
v v
Infantry Cavalry
v v
v v v v
Havaldar Jumledar Shiledar Bargir
Q.2. (1) Thejob of the Pradhan was to run the administration and

make arrangements for the conquered territories.

)
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Maharaj entrusted the responsibility of organising the
land revenue system to Annaji Datto.

Maharaj warned the revenue officers that they should not
collect more revenue than the amount which was fixed.

The job of the intelligence department was to obtain
information about the movements of the enemies and
submit it to Maharaj.

There was a Killedar, a Sabnis and a Karkhanis on every
fort.

The names of the battle ships in the navy of Chhatrapati
Shivaji Maharaj were the gurab, galbat and pal.

The battle ships were built in the creek of Kalyan -
Bhivandi, Vijaydurga and Malvan.

The Portuguese of Goa, the Siddis of Janjira and the
British factors of Surat and Rajapur were the enemies of
the Swaraj at the west coast of India.

The hill forts built by Chhatrapati Shivaji Maharaj were
Pratapgad, Pavangad and Rajgad.

Chhatrapati Shivaji Maharaj appointed a council of eight
ministers with eight departments for the administration
of Swaraj. It was called Ashtapradhan Mandal.

The peasants were provided with bullocks, ploughs and
good seeds for sowing.

The main objective of Chhatrapati Shivaji Maharaj was to
make his subjects independent.

Maharaj knew the importance of agriculture. He paid
more attention to the welfare of farmers. He warned the
officers that they should not collect more revenue than
the amount that was fixed. If the crop was lost due to
excessive rains or drought or if an enemy army had
devastated, the area of the village, remissions were

2
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granted. The peasants were provided with bullocks,
ploughs and good seeds for agriculture.

The main objective of Maharaj was to make his subjects
independent. They must enjoy their freedom. It was
necessary to have a disciplined administration. He had to
take comprehensive care of the people’s welfare and
protect the conquered territories. For these things he
appointed Ashtapradhan Mandal, navy, military officers
to take care of his subjects. He did not want to dominate
his people. He was a good administrator.

At that time the traders imported salt from the
Portuguese territory and sold it in Swaraj. That affected
the local trade in the Konkan areas. With the intention of
increasing the prices of imported salt, Maharaj raised
heavy taxes on that. As a result, the prices of imported
salt increased and the prices of local salt decreased. This
way Maharaj protected the industry.

Artisans in the village produced goods and fulfilled the
needs of the local people. Farmers gave a definite share
from their produce to artisans. This share was called
‘Baluta’.

If the crop was lost due to excessive rains or drought or if
an enemy army had devastated the area of the village,
remissions were granted in land revenue.

The kingdom prospers only with increase in trade. Trade
prospers adding to the wealth. The merchants bring novel
goods as certain necessities into a kingdom and the
goods become available in plenty.

Forts were of great importance in the Medieval Age
because (1) the possession of a fort made it possible to
keep an eye on the surrounding areas.(2) In case of
foreign invasion it was possible to protect the people
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taking shelter in the fort. (3) It was possible to stock the
fort with foodgrains, war materials, ammunition and
military garrison.

It was necessary to protect the Swaraj from its enemies.
For this, it was necessary to get precise and timely
information about the movements of the enemy. The
intelligence department of Swaraj used to obtain
information about the movement of the enemies and
submit them to Maharaj.

The forts were of great importance because possession of
a fort made it possible to keep an eye on the surrounding
areas. In case of foreign invasion it was possible to protect
the people taking shelter in the fort. It was possible to
stock the fort with foodgrains, war materials,
ammunition and military garrison.

Chhatrapati Shivaji Maharaj set up a navy because it was
necessary to control the activities of the enemies like the
Portuguese of Goa, the Siddis of Janjira and British of
Surat and Rajapur and protect the West Coast. He
realised that one who has a navy, controls the sea.
Therefore Maharaj raised a navy.

Chhatrapati Shivaji Maharaj established the Council of
Eight Ministers to ensure the smooth management of the
affairs of the Swaraj to ensure people’s welfare. For this

he set up an efficient administration of Ashtapradhan
Mandal (Council of Eight Ministers).
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Topic 2 : Preamble to the Constitution

(1) Constitution (2) law (3) Preamble

(4) British (5) secular (6) religion
(7) people (8) fixed (9) republic
(10) public (11) dignity (12) election
(13) citizens

(M-, -, 3)-(@, @-Mb.

(M False (2)True  (3)False (4) True (5) False
(6) True (M) True  (8)False (9) True

(1)  Fraternity (2) Democracy (3) Preamble
(4) Secular (5) Justice (6) Laws

The Government elected by the people makes laws on
behalf of the people.

The positions like the President, the Prime Minister, the
Governor, the Chief Minister, the Mayor, the Sarpanch,
etc., are public positions.

In @ monarchy, the public positions are occupied by the
members of a single family following the principle of
heredity.

The values of justice, liberty and equality have been
guaranteed by the Preamble to Indian citizens.

The three types of justice are social justice, economic
justice and political justice.

All citizens completing 18 years of age have the right to
vote in elections.

Equality of status and of opportunity is guaranteed by
the Preamble.

©)
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Q.3. (1)

2

3

(4)

5)

6)

@)

The Preamble states secularism as one of our goals. In a
Secular State, all religions are considered as equal. No
religion is considered to be the State religion. Citizens are
free to follow their own religion. State cannot

discriminate amongst citizens on the basis of religion.

We have adopted universal adult franchise to enable
equal participation in the running of the country.
According to this, all citizens completing 18 years of age

have the right to vote in elections.

The right of economic justice ensures the eradication of
poverty; and the right to a source of livelihood, so as to
look after oneself and one's family without any

discrimination.

When every individual respects another and honours
their freedom and rights, the dignity of the individual will
get established.

The Preamble begins with the words “We the people of
India” and ends with the words “Give to ourselves this
Constitution”.

The word ‘sovereign’ means that a state is not under the
control of a foreign power. The word ‘sovereignty’ means
the ultimate authority to govern yourself. In a democracy,

sovereignty rests with the people.

Justice implies removal of injustice and ensures that
everybody has the opportunity for progress. Justice

promotes public good.
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Q.4.

Q.5.

F A Y G A R 0 K J I
R G Z E L F R M L L
A E G P S H M Y N D
TIIF[PIR[EAM]B]L]E]
E E A Z C H I J I M
R D O P U J A B K 0
N I M E L K P S Q C
I H N Z A R C O T R
T C G F R G H G K A
Y B N Q H I E F J C
Y A A P S L S I F Y

(1) Socialist State : A socialist state is such a state where
the gap between the rich and the poor is minimum. All
have a right over the wealth of the country. It is ensured
that wealth is not concentrated in the hands of a few
people.

(2) Equality : Equality means that all have equal human
status and there will be no discrimination based on caste,
creed, race, sex, place of birth etc. The Preamble has given
great importance to equality of status and of
opportunity.

(3) Sovereign State : Our country became independent on

15" August, 1947 India became a sovereign State. The
word ‘sovereign’ means that a state is not under the
control of a foreign power. In a democracy, power
remains in the hands of the people. The representatives
govern the State on behalf of the people.

(09
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Q.6.

Q.7.

(4)

Mm

2)

Mm

2

Equality of opportunity : The Preamble has given
great importance to equality of opportunity. According
to this, all citizens get the opportunities for development
without any discrimination.

Freedom of thought and expression enable the citizen to
express their own views and ideas freely. A give and take
of ideas enhances the spirit of co-operation and unity
amongst us. So the freedom of thought and expression is
a most fundamental freedom for an individual.

Fraternity implies a ‘we-feeling’ towards one another. It
creates a feeling of empathy. People become more
understanding towards each other’s problems and needs.
So the promotion of fraternity has been included in the
Preamble as a goal.

Freedom means behaving in a responsible way and not as
per our whims and fancies. If we are celebrating the
festivals publicly, we need to follow some rules e.g.
keeping the area clean and free from sound and air
pollution. We should be aware of public cleanliness,
health and the environment. We should not behave in an
unrestrained manner.

KEYWORDS

MEANINGS

m

PREAMBLE

An introduction or Preface of the Indian
Constitution.

2)

SOVERGIN

Independent. Not controlled by any other
country

3)

SOCIALIST

(1) The State where the gap between rich
and poor is minimum.

(2) People who believe in social equality
(social belief).

STATE
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(4) SECULAR All religions are considered equal. Not
concerned with any religion.

(5) | DEMOCRATIC |Sovereign power in the hands of people.
Supporting equal rights for all people. Based
on a system of democracy.

6) REPUBLIC The country that has an elected government
and an elected leader.

@ JUSTICE The fair treatment of people.

(€3))] LIBERTY The freedom to go where you want, do what
you want.

@ EQUALITY The situation in which everyone has the
same rights and advantages amongst the
people of different races.

(10)| FRATERNITY |[The feeling of friendship and support
between people in the same group.
Topic 3 : Features to the Constitution
Q.1. (A) (1) Federdl (2) Parliamentary (3) Lok Sabha
(4) Judiciary (5) President (6) Single
(7) unique (8) democratic @ 29-7
(10) Parliament (11) Concurrent (12) two
(B)
Union List State List Concurrent List

(1) | Defence (1| Agriculture (1) | Employment

(2) | Foreign relations |(2)|Law and Order (2) | Environment

(3)|Currency (3) | Local government |(3)|Education
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(4) | War and Peace |(4)|Health (4)| Personal law
(5) | International (5) | Prison (5) | Economic and
trade Administration Social planning
(C) (1 UnionGovernment (2) Election Commission
(3) Concurrent List (4) State Government
(5) Union Territories (6) Parliament (Legislature)
(D) (1D True (2) False (3) True
(4) False (5B) True
(E) (1) defence (2) Kerala (3) Subject List
(4) DamanandDiu
R M-, -, 3)-(a.
Q.2. (1) The Government at the centre is called Union

* Teacher’s Note :

2

3
(4)

)

6)

Government or the Federal Government.

Lok Sabha and Rajya Sabha have the power to amend
the Constitution.

The Council of Ministers is answerable to the Lok Sabha.

The Indian Constitution has granted a single citizenship
to all Indians.

The Union Government and the State Government are
entitled to make a law on the subject of the Concurrent
list.

There are twenty-nine States and seven Union Territories
in India.

Please let the students know that our country

currently has 28 States and 8 Union Territories.

Q.3. (D

2)

3)

(4)

)

6)

Ruling a large territory from a single capital city is not
only difficult, but may also lead to the neglect of some
far-flung areas. People residing there cannot participate
in the affairs of the Government. Therefore, Governments

function at two levels in a federation.

Union Government makes laws on the Union List and the
State Government makes laws on the State list. If a
subject comes up that is not included in any of the lists,
the Union Government is entitled to make laws on it.

These powers are termed as Residuary Powers.

The disputes that cannot be resolved mutually are
referred to the Judiciary. The court hears both the
contesting parties, looks into the injustice if any, and
gives its judgement. This has to be done impartially.
Therefore, the Constitution has created an Independent
Judiciary for India

The Government at the centre carries out tasks like
defence of the entire country, foreign policy, establishing
peace, etc.

The system of running the administration of a country co-
operatively by the governments at two levels, making
laws about different subjects, is called federalism.

The merits and the demerits of an Independent Judiciary

are as follows :
Merits :

() Judges are competent to make judicial reviews by

their knowledge and experience.
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(i) In judiciary system the court is independent, hence
making sure that it is not influenced or biased while
imparting justice.

(ii) The Court protects fundamental rights of the people
and minorities.

Demerits :

(D Judiciary system may violate the separation of

powers.

(i) Judicial Review delays the operation and

implementation of important issues.

(i) Judges may overlook the challenges of the changing

times and may refuse to move forward.
(iv) Judges may become conservative.

Electronic Voting Machine takes care of the chores of
casting and counting votes. It can also involve
transmission of ballots and votes via telephones, private
computers, network and internet. It includes a control
unit and a balloting unit connected by a 5 cm cable.
Advantages of EVM machines are as follows :

() Hackers cannot hack the EVM machines.

(i) It can’t tamper the count number.

(ii)  Physically challenged people can operate it easily.
(iv) EVM saves time.

(v) Itis economical, paperless and cost-effective.

Q.4. (1) The Council of Ministers that runs the administration

2

emerges from the Lok Sabha. So that it is answerable to
the Lok Sabha for all its decisions.

Since India has adopted a democratic form of
Government, people have to elect their representatives
periodically. The elections have to be conducted in a free
and fair atmosphere. Only then will the citizens be able to
elect a candidate of their choice without any fear or

pressure.
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Q.1.

Q.2.

M
3
5)
6)
®
Mm

2)

3

4

5)

6)

@)

Geography
Unit - 1l
Topic 4 : Air Pressure

air pressure (¥)) increasing altitude

temperature  (4) pressure belts

equator, poles

Tropic of Cancer, Tropic of Capricorn ~ (7) heavier
9 O0° (10)
The altitude of the region, temperature of the air and
amount of water vapour in the air, are some factors that
influence air pressure.

curvature isobars

When temperature rises, the air gets heated, it expands
and becomes lighter in the vicinity of the earth’s surface
and moves upwards towards the sky.

If the temperature drops the air gets cooled, it contracts
and becomes heavier. This heavy air moves in the
downward direction and the air pressure increases.

Uneven distribution of temperature influences the
distribution of air pressure. It leads to the formation of
low and high pressure belts, horizontally between the
equator and the poles.

The effects of air pressure are (a) origin of winds,
(b) generation of storms, (c) convectional type of rain.

The duration and intensity of sunrays varies during the
periods of the year in both the hemispheres. This makes
the temperature zones and pressure belts to vary. The
change is 5° - 7° towards the north and 5° - 7° towards
the south. This is called the oscillation of pressure belts.

The difference is that temperature zones are continuous
and are spread from the equator to the poles, from Torrid
to Frigid. Pressure belts on the other hand are not
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(€)]

continuous and areas of high and low pressure are found
in different regions from the equator to the poles.

Due to earth’s curvature, the area between two parallels
gets reduced as we move towards the poles. Air in this
region is thrown out because of their reduced friction and
also because of the earth’s rotational motion. This leads
to the development of the subpolar low pressure belts
between 55° and 65° parallels in both the hemispheres.

Pressure Belts Temperature Zone

(a)

Pressure belts are narrower.

(a) | Temperature zones are larger.

(b)

Pressure belt has limited | (b) |Temperature zones extends
extent upto 10° parallels.

from 23°30’ to 66° 30

Q.3. (1) The proportion of dust, water vapour, heavy gases is high

2)

3)

4)

in the air near the earth’s surface. This proportion
decreases with increasing altitude. As we move higher
and higher from the surface of the earth, the air becomes
thinner and thinner. As a result the air pressure decreases
with increasing altitude.

Temperature and air pressure are closely related.
Wherever the temperature is high, the air pressure is low.
As the temperature rises, the air gets heated, expands
and becomes lighter. This air rises up and pressure
decreases. Pressure depends on the rise and fall of
temperature, hence it oscillates.

The heat received from the sun is uneven in different
regions. Hence the distribution of the temperature is
uneven from the equator to the poles. As a result, the
temperature zones are created.

The sun’s rays are perpendicular between the Tropic of
Cancer and Tropic of Capricorn. The temperature is high
here. Air gets heated and expands, becomes lighter and
moves towards the sky. This goes on continuously, hence
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Q.4. (1)

2

3)

a low pressure belt is formed between 5° N and 5° S
parallels.

(@) When the heated air becomes lighter, it starts rising
and reaches higher altitudes and then moves
towards the Polar regions.

(b) Due to low temperature at the higher altitudes the
air cools down and becomes heavier. This heavier air
descends in both the hemispheres between 25° to
35°parallels.

() This leads to the formation of high pressure belts in
both the hemispheres.

(d) This air is dry and these regions do not get rain,
hence hot deserts of the world are found in these
regions.

(@) The pressure belts can be divided horizontally on the
earth’s surface.

(b) We have the Equatorial low pressure belt from 5° N
to 5° S of the equator. Since it is very hot here, the
pressure is low.

(0 From 25°to 35° N and 25° to 35° S of the equator
we have the Mid-Latitudinal high pressure belts.

(d From 55°N to 65°N and 55°S to 65°S we have the
Sub Polar low pressure belts.

(e) Atthe North Pole and at the South Pole we have the
Polar high pressure belts from 80° and 90° N and S.

(@) The sun’s rays can be perpendicular between the
Tropic of Cancer and Tropic of Capricorn.

(b) Thetemperature is very high in this region.

(0 Theair expands, becomes lighter and moves towards
the sky. Low pressure belt gets formed between 5° N
and 5°S.
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Q.5. (1) thinner  (2) millibars  (3) uneven (4) Equatorial low
Q.6. (a) Pressure belts

Polar high pressure belt
90° 80°

(b) Temperature zones

90° North Pole

o 0a()
Polar winds 65 66°30'N.
Subpolar Tow pressure bel

n 55°
Westerlies

/‘/‘/"/‘sao

Mid-latitudinal high pressure belt

/ (L \:

Equatorial low pressure belt

\\ X \W\L

Mid-latitudinal high pressure belt

\\ N, y

Subpolar low pressure bel;/ 55°

5°

Polar winds' 65° X
90° 80° 90° South Pole
Polar high pressure belt

Q.7. The heated air becomes lighter, starts ascending and after
reaching higher altitudes, moves towards the polar region. Due
to low temperatures at the higher altitudes, the air cools down
and becomes heavier. This heavier air descends down in both
the hemispheres in the region between 25° to 35° parallels. This
leads to the formation of high pressure belts in the parallels of
latitudes in both the hemispheres. This air is dry, hence the
region does not get rainfall. Consequently, most of the hot
deserts on the earth are formed in these regions.

Intext Question
Can you tell ?

(1) (1) Equatorial low pressure belt its found in the Tropics.

(2) (a)Polar high pressure belt  (b) Frigid zone

(3) Thetemperature is very high in the Tropics. The sun’s rays
are perpendicular between the Tropic of Cancer and
Tropic of Capricorn.

(4) Between Mid-latitudinal high pressure belt and Sub-Polar
low pressure belt winds in the temperate zone are
associated.
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(a) Equatorial low pressure belt 5° N to 5° S.
(b) Sub polar low pressure belts 55°-65° N and 55°-65° S.

(2) (1) In the Northern hemisphere isobars are far from each
other. In Southern hemisphere isobars are very close to
each other.

(2) (@) Mid-latitudinal high pressure belts are between

25°—-35°North and South of the equator.

(b) Equatorial low pressure belt is between 5° North
and 5° South of the equator.

() Sub Polar low pressure belts are between 55° — 65°
North and South of the equator.

(d) Polar high pressure belts are between 80° — 90°
North and South of the equator.

(3) The distance between successive isobars over oceans is
close to each other where as the distance between
successive isobars over land is more and they are further
away from each other.

(4) In the Northern hemisphere isobars are hardly parallel to
each other. They go round in circular shapes and there is
lots of distance between them.

In the Southern hemisphere isobars are more parallel to
each other and nearer to each other.

(5) Sincetheisobar lines are forming a circular path, it shows
that the pressure is the same throughout Asia.

(6) Theselines show high pressure.

(7) Theyshow that there is low pressure in these areas.

Topic 5 : Winds
Q.1. (A) (1) earth’ssurface (2) velocity  (3) Knots

(4) rotation (5) Southern
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Q.2.

Q.3.

Q.4.

(B)
M
2
3)
(4)
S
M
3)

990,994,996, 1000

Value of air pressure in millibars

(6) Roaringforties (7) Mountains (8)
(9) stable, opaque (10) Indian sub-continent

(M-, @-(a, B)-b), D-(, ©)-(e)

becomes thinner

sunset

blow towards regions of low air pressure
turn to the east

north-east to south-west.

blow in the areas around 40° S parallel
South west monsoon winds (2) Polar winds

Mountain breeze

e 1030, 1020, 1010, 1000

Value of air pressure in millibars

Cyclone Anticyclone

Q.5 (1) Theregion between 5°N and 5°S around the equator is a

2

region of low pressure. Winds in both the hemispheres
blow towards the equator and lose their velocity as they
near the equator and get deflected to the east or west due
to the rotation of the earth, hence this area is a calm area.
It is also called as the equatorial calm zone or the
Doldrums.

The southern hemisphere is mostly occupied by oceans. In
this hemisphere the obstacle caused by the relief of the
land surface is almost absent. As there is no obstacle,
winds blow with greater velocities in the southern
hemisphere as compared to the northern hemisphere.
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Q.6.

From September to December, because of the low
pressure area developing near the equator, winds blow
from the Indian sub-continent towards the equator. These
are called north - east monsoon winds. They are dry

winds.
Types of Winds

v
(Planetarg Winds)

[Seasonal Winds) (Local Winds)

v v
|Easter|ies ||Wester|ies||PoIar Winds|
v v
S. W. Monsoon| [N.E. Monsoon
Winds Winds
¢ ! ! }
Sea Breeze | [Valley Breeze| | Land Breeze Mountain
Breeze
Q.7. (1) In both the hemispheres it is very cold in Polar areas, the

2

3)

temperature is very low. It is around 0°C in these areas,
hence the pressure is high. The lower the temperature, the
higher is the pressure.

The direction of the winds is influenced by the rotation of
the earth. In the northern hemisphere, winds get deflected
towards the right of their original direction, whereas in
the southern hemisphere, they get deflected towards the
left of their original direction. The rotation from west to
east causes the change in the original direction of the
winds.

Cyclonic conditions are created when a low pressure area
is surrounded by high pressure areas. In these conditions,
winds start blowing towards the low pressure area from
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the surrounding high pressure areas. Due to the rotation
of the earth the cyclonic winds in the northern
hemisphere move in an anticlockwise direction, whereas
they move in a clockwise direction in the southern
hemisphere.

(4) Cyclones are formed when a low pressure area is
surrounded by high pressure areas. Winds start blowing
from the surrounding high pressure areas to the low
pressure area in the centre.

Effects : The sky becomes cloudy, winds blow with very
high velocity and it rains heavily.

Give It A Try

Intext Question

Pressure Belts

Northern Hemisphere

Southern Hemisphere

Mid Latitudes

Winds get deflected
towards the right of
their original direction

Winds get deflected
towards the left of their
original direction

Poles

North to South

South to North

Can you tell ?

(1) The Easterlies.
(2) Southward direction.
(3) The Westerlies.

(4) Polar winds blow from high pressure areas at the North Pole
and South Pole to the sub-polar low pressure areas, hence in the
north they blow south wards and in the south, they blow north

wards.

(5) TheEasterlies, the Westerlies and the Polar winds.

(6) In both the hemispheres the Easterlies blow from the mid-
latitudinal high pressure belt to the equatorial low pressure belt.
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Try this

(A) (1) Thevalleyzoneremains cool due to more numbers of tree.

(B)

(2) Airpressure is more than mountain top in the valley.
(3) Winds blow from the valleys in the upward direction.

(4) The hot and light air from the valley is pushed upwards
and the cool air rushes down into the valley.

(5) Valley breeze blows during daytime.

Mountain breeze

Can you tell ?

Mm

2)
3)

Land gets heated faster than water and the air pressure on land
decreases. Sea water gets heated slowly, hence the air is less
heated and air pressure remains high. Winds here blow from sea
to land.

At night cool land breeze blows from the land towards the sea.

The figure 5.3 a shows day time. We have cool sea breeze
blowing to the land. On land, the pressure is low because the air
is heated up. The warm air moves towards the sea and the air
becomes cooler. Over the sea the pressure is high. The sea
breeze blows from the high pressure belt above the sea to low
pressure belt on the land.

(4)

Sea breeze Land breeze

(a)

In 5.3 a, we have high (@) |In 5.3 b we have warm air
temperature on the land cooling and coming in the
and low temperature on downward direction, while
the sea. warm air over the sea goes
upward.

(b)

Air pressure is low on land (b) | Air pressure is high on land
and high on water. and low on water.

(c)

Wind blow from high|(c) |Wind blow from high
pressure areas on the sea to pressure belts over the land
low pressure areas on land. to low pressure belts on
water.

5)

6)

@

Land breezes are shown in 5.3 (b) These breezes blow from the
land towards the sea at night. Sea breezes are shown in 5.3 (a).
These breezes blow from high pressure over the water to low
pressure over the land 5.3 (a).

Land and sea breezes are experienced on the Western coast of
India and the Eastern coast of India.

Yes, | experience sea and land breezes as | stay on the west coast
of India.

(Note : Student can write their own answer as per the place
where they live, answer varies.
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Q.1.

Topic 6 : Natural Regions

(A) (1) 65°90° (2) rainfall, snowfall (3) verycold
(4) 25 (5) 200

B) M-, @-(@, -, @A-b.
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Q.2.

Q.3.

Q.4.

M
2

3
(4)
%)

M

2

3

M

2

False - They are industrious and enthusiastic people.

False - The prairie region is called the wheat granary of
the world.

True

True

False - Crocodile, anaconda and hippopotamus are found
in equatorial regions. Lions and tigers are found in
monsoon region.

In this region the rainfall is from 250 to 2500 mm.
Rainfall is highly variable and its distribution is quite
uneven. These areas get rain in specific seasons from the
S.W. Monsoon winds, hence people are engaged in
agriculture.

The annual rainfall here is between 2500 and 3000 mm.
There is high heat and rainfall throughout the year. The
land too is swampy in general. Hence tall hard - wooded
trees like mahogany, ebony, etc., grow here.

In these regions, the temperature is very low. It is
approximately —20° to — 30° C. The mean annual rainfall
is 25 - 300 mm. This is the reason why there is very short
lived vegetal life in the Tundra region.

The latitudinal extent is approximately between 55° and
65° N parallels, from Alaska to the Atlantic coast.

Giraffe, elephant, zebra are some herbivorous animals.

For self protection, nature has gifted the animals here
with speedy legs. Skins of the animals have colourful
spots or stripes bands to help them merge with the
natural surroundings.
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(3) (a) The monsoon regions are situated between 10° and
30°N and S parallels.

(b) The areas are : Indian subcontinent, West Indies, N.
Australia, E. Africa, etc.

(@ Rainfall is 250 to 2500 mm. The S. West Monsoon
winds give rain to these areas.

(d) Vegetation depends on the distribution of rainfall,
hence there are semi-evergreen and deciduous
forests. Trees such as banyan, peepal, teak, sal, etc.,
grow here.

(e) There are wild animals like tigers, lions, wolves,
peacocks, etc., and domesticated animals such as
cattle, goats, horses, etc.

() People areinvolved mostly in agriculture.
Q.5. (1) Colorado Desert ~ (2) British Columbia

(3) DownsGrassland  (4) Inhabited part of Greenland
(5) Mediterranean Sea

ARCTIC OCEAN S ARCTIC  OCEAN
 NORTH /o = ' PR
1% AMERICA ' ——"-% ) ASIA

PACIFIC OCEAN

EQUATOR 0° g

& SCES INDIAN OCEAN
SOUTH
AMERICA

PACIFIC OCEAN g y 4
W : AUSTRALIA
1. Colorado Desert \ 3 2. )

@ 2. British Columbia
s sland SOUTHERN OCEAN

. Down

h: part of 2N £ a o
Te - § - .
erranean Sea | . ANTARCTICA
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(1) Monsoon region, mountainous region.

(2) Africa.

(3) Asian continent.

(4) The Southern hemisphere has less land and more water.
(5) Taigaregion.

(6) Island near the Arctic circle.

(7) Prime Meridian passes west European type climate
region, mountainous region, Mediterranean region and
grasslands in the Torrid zone. (Savanna) through
continental dry climate and hot desert regions.

Think about it !

Mm

2

3)

(C))

)

On the western side mean summer temperature is high, it is
between 30° to 45° C. There is tremendous heat in the western
side, hence deserts are mostly located here.

Since it is very hot and there is no rain, crops cannot be
cultivated in the desert areas. People must have some
occupation. Animal rearing is the best thing that can be done in
desert areas.

People move from one area to another in search of water. When
the water in their area gets dried up or exhausted they move to
another place in search of water. Hence they live a nomadic life.

Carnivorous animals like to move about freely. Since grasslands
are very large, we find both carnivorous as well as herbivorous
animals here. Carnivorous animals also find plenty of food in
the grasslands since carnivorous animals live on the flesh of
herbivorous animals.

Because of hot and humid climate animals like lions are not
found in equatorial forest.
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*OQ (1)

2)
3)
(4)
)
6)
@

Tundra region

In Sudan Type grasslands
Mediterranean region
Equatorial region

Desert area

Monsoon regions, grasslands

Mediterranean region

124)
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(2) 3T=II- TR STEr-Ffadt FTe § I M|
(3) WS HT X fa@T o, WA 9% e F W ST "
3% | FeT 7 Y FAR S THT =L W M Hl Felre o |
TET T § A9 b7 =6 GaT bl ale THeh Tl | §aT o
3G A WG ot T BT FET| 3H WE T BT Tg TR
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u.3.

4.

FEYE G T A SR FE HS HAH | SO G e 3T
TR STEI-Fadt AT A |

1) WRgEA (2) &L FHiaar

(3) T ATAT-H-HaR TH AT THT ST,
TR e AT =Rl BT & < S |

(4) g T U ITIR Teufd SR WS gfTAt T FHam v
FAT B | A T G fe@ o1 vtk df €a € © eifeRd el W
TS T ff YeI-Fa1 I € qT FAART TET TR SN
FGHATE 1 aeX off 3F -FaR AT T TR W A
TeTE T § 3T Tl o1 % off /e € | sefen g3 78 it
THE B |

AT o FelTeT & STET-gfaal T SKATe [ ST § el 37T 2 |

STt § ueh doa 31T STef o7 S € € | 3T o MR

TE-TE ST ST T 7T BT 37eT F WiEel 51 feam € | Hew &

AT IAR-TGTE ¥ g SI9R T ST € | 7 7 3791 Jf4 o <

T SHam]-fammysti s <@ o a7 a1 fau Wy 78 39N IeHfd &

THROTE T 3Y T T 9 FeF T ey &7 e € 1w STe)

TeUfT o RO &Y BN Sfesh W SaRT FHNTEr aXer ST

TR Weg Yt €1 T Ug-u o et € W oet faw o &

FHROT I AR, SR T TR o 1 et € | 3 fuferat

TRfET, fUE €9 & HRU o Qg STeR Teufd § 1 o

THIAT AT T STET-Ffeat & SRt et o i |

HTh{UT

()

1) &r-%ar 2) FEH-AS
4) faeT-geT (5) 3Ir=3I-3r= 1

(3) gag-v™
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&M 1) T (2) g
® O T Q) (3) Ul (4)¥T]
® (1) T (2) g (3) S (4)a7, T
6. ‘geat’ | ‘Af’ qeh
T1. (1) @ Sl 7 fHORd &1 6 1989 F FRYU 3 GAR HT
ferami
@) FIXTTH “TIes” H Hohd (@S TST|
(37)  TEUUT T AR AT AT IST |
@) T T W S FHAW T T AR, T TA & TS w
Harfud foar|
) ()  ThTeR! GUEAT & HROT ‘A T I&UUT fHT Tk a1
T HTAT TS|
(i WM F TH B9 ¥ Ted ¥ 99 Aol ol
< FA St F Faded T auTeRl § AT & FHmae
TETUT & Ui faveme S fear o |
@) O Q) e (2) s
(i (1) e (2) e
(4) TR 9Q IAET I € A AT WY FB AT AT A 7

AfehT 37 FHIfaAl T W R g¢ RO T o T&]
e | HITTIT T I T G & T § FH el o
3 qEF w Ut B foREt w § wherar mEr ¥ TR
el | ST ShTHATS B & foT et o1 Qrear T € ol
T TS AT 3 THIfeAr Trer iy € ot 7 | e Hed I
fema § ATl T T ST =feu
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u.2.

M

@)

3)

TRt o HIT O SO § 97 9 STEEY W A © Al T §
ST JAfET AT T e, ek Seiqech ITehT W
SHTAT A1 ST H qYHT & THT =9k 33T ¢; 99 & FHfear
1 H THETAT BT ST o S § IR I HTA ATt T Hoft
B T8I |
(i) Qerel U=l T TNMAR 1o Hieh U b1 hTH sheel
Y fT H T T 2|

(iv) HIEH Faelt 3ffehe Gop-Gehert 3T ol 3T <F fime &
AT T 3T TG-S TR |

() o1 W ‘A FHUT H hel ThA B2 IE HaTel TR fEAT
o e [T AT

(iii) TETHAT 7 . e § ITER | T e TS|

0 B——————
gfutar 22 Mg, 1989
(i) (1) SO 3 HRT el fohaRl § ToHaT ST 31ferer 37T
T TEt ot |

(2) 3T =} HHATET T ST T &+ faw TEmst St
3T el Sl SUEK T et o |

Iy e 918 U T
eEdar oo =t ar
STeR T 3T -
& &quT ) -
eI CILING - 3
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u.1.

(4)

(39

T, STreT 3T s S fafu= g E
T & e o fAw & qE srfee W F i R SN SR Y
e frehel | 3 WY U T e ¢ 1 i & e #
TREST, THehS! WHT WL o AT Arveraes § | 3 gerel & 7= ot
T, fiq vRe, S 991 =1feT | ST o, W are WISt Tl
G =fET fSTHY e i T ST GTHAT ST 7S | TTH | 9T
et a1 for Tope & foT &1, a1t T SYFT BT =fey | oSt
Y7 & HROT e T g IR AT € QAT et hug e
ST 7 | fSTT €1 Wk o H STeR W & fehd |

IS F UEE ¥ g F faw T e S A e
=fET | Tfear 7T 8131 1 Wed ¥ q=1T | = ! T4 a91C @
% fU I A1 ST HT TAN HTA (e | WiLw 9T HAT
SEC T @H H ST AT IS @M e qt %, g4
Tfesrat, TH T o AT AT FaIg IoHL AN HLT
=feq |

T F Y, wAfEn, sEdEr S dmiEt e @
AT ¥R 3] SR o Y HT e UE T@ M| W F
SYTHUTE T STAT €14 7 & | SRilfeh 31 ot Ao et I 2 |
39 TRE TEUMT ST o W B AR G a0 i F o
TR =T TRt ST O A el HIS T e | gHIm
3T FTT TSI AT BT TG SO 8 | T H ST 3T I &t
T | T H TR T GHT Faed SRt i gad!

(1) ‘gedt’ wemor % fou shgfenter smfte o # favi gigemt
T o |

(2) fot TE Ot Ychegd Ht 4T ST 7 TART TR U 1 Th
T H T ST |

(3) S 3YAGT T FTY SIAR T FRITAT T 37T & |
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u.3.

CORORRCISEI

M

@)

€)

@)

M

(2) nifafafert
(4) S (5) SAfaiem

FiediehlaT AR H% ¥ 25 HIEKT,1988 1 ‘Jeal ITIT BIST
AT | I < o Tohd I o SiaeTd & Teh FIaCehiy g off |
ST T STTHTHT T o & H IWT 37| 59 T G
AT A IR e fomear Smenfia geam yonfedt T a=a
T gfeT T o gE § g fear |

19 37, 1989 T ‘3T’ o1 wermoT ferife fopam am om ) Afer
qehfTeh! @RIl o SHROT I% TEUUT I T I8T1 39 6
T H&H § & | 37T g8 G A M SRS, e o 39
T 3O TN ST | I=I hel foh, ITehT Hequrae r et
THE 7 @I T o fSTHeh! anqEt of Iwerdr ¥ g3 | e e
3Tl FoF IMYH T ¢ S T T i off T @ € R
T3 gl H GERT T T 9 |

. ST ST o WieHTe W gt 7 fa7-T Hewa ot 31 1 7,
1989 @1 ‘A @RS =1 Wm0 F U AR 7 feran | Afe
T FEET S A & GRA d-10 FHS | T Tes’
Tohd fo@Tg TSt | Safem ‘31’ ST HEIquT TTT heT TST|

22 WE, 1989 w1 ‘I wemuy freifcq fomam waw or| 39 &t
TRl T H TG ARIed 7 . HaW ¥ 9T, ‘Ham! wd g
‘A A HEAT HT ST TN ok AU e T IWR
TEM?’ 39 e Th AME O Farel L&t 5 . o St
TS|

() 7

ot SRFTET iR % fireh gleremd

wiee te | | fresT Suest || srfem gu-fufa g || =ie-grsa
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u.4.

2) | ure & o faameat o forer frar T &
goaft af

fergi ¥ AR <frer Sar & araer giaend ok & € | fferean, amamm,
TR 37 H WS 7 3TAYS k! I ¢ | TaTAe a9 ot & &
2| ofrer Sitae o H gEeT ITIM T AN UGS bl Sifaer gEenat &
T gad B SUINT FHEI | I fohemel T o7 Ttk 7 1 § 310 Hawga
H 3-SRt G ferems Tiohs Ug T | B AIaT- o T8 IeY H T §
3R & Fef TRed ¥ g wear § | fafedr ¥ oy ® S 9| o
ToheT §, It TehaT § 37 et feT gerar § |

T o % & NfawhR WY f aXem ®, ST ST
T G TS SGE TR o S ot AT 377t 7 |

T v

*

ST forg ot SR © | TSI o ShieoT € A Uehta o e’ Wi
T 7 3 T T (TR Hleh Wi 7 | 3 Tl 37 9
FHR T W 9T T S(HR F TF & T 2, Fe-Hh HA ared
Hifsrer-diter & T Tt 3T S ST fovary i € 3% off wHem
T W @A & | a9 7 R #E iufavardl ¥ WeT g} el
T Y AT FIAT €| ST S STUICHT & e &1 AR H
ferstr < e T ® | & faselier & aTd § S TR U €,

‘g fifdss WM, 49 9, d99 75, Y9 ¢ faegh, o
MIESRCECGAEGICEI

ST RITTET

*

T TWRY HT WA TEJ U TIg 98 a7 I3 § | 370 Freaendt
ST T G ST 52T AT HIAT § | TeH o a1g e 37 g it
T 93T § | WS # fear g e W T R T Tl #
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u.2.

TQT T WS IR &1 9.00 ST TSI ST § | 4.30 & o
TS & UgTE-fer@ré Bl 2 1 4.30 957 TS B2 € | T SHT
TO-0 & o a1g HF T fRAr e oar €1 R erel X wfehe
FAT ST § A1 et Sl o WY WA § | @ @rehT 39 HidT-
foaT, oS o T MO T 5| TSl o QISR o I HHwhH
SEAT R 1 9.30 TS | ST § | Fat & foT W 39 feA=at 7 over
TS 3 TR |

CTD (1) T 7 fOH BT ST foha |
| fomw | | T | (2)®™ & THar & € wfe

D) (1) e f=T ? |
| st | [STEAT| (2) T U S G ST

(1) 1 7 fsia = T
| forcter | | Stomet | (2) TR H TGS WA |

€SP (1) B 157 977 Y BT W ferer feRam?
[SH] | At | (o) e ¥ aree wE ¥

=D (1) 3T FH+ft 7 e |
| SO | | WM | () et 35 7 e SR € e e 3

(37) AW - BW, T, TS, TS, &, 3, |

e : (1) AT TAT R TBITEA | (2) T TARY Ter w1 st off

(3) AN WHECEF TR (4) 9 H Fo LT e
(5)  STUT ST THT T G HE |

(6) Y FHRT ARTCRH SIS |

(7) STUH . ST Hell bl eI T SATelT?

(2
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N | srgem g v ST v
AN SHEE gferemt Tfafafumt
T e IS "]
3 e
TETHAT

TG hITTS (Writing Skill)
T hem |

u.1.

TR

TUTHYT H AT T T | AT FEH Y 3R ST T W
Fgad fig off | -9 & Tedid ¥ ff AT a-aedl o §re e
TG M TE I | TR Ut # oS T ST | 7 oF TET AT | W U
T TS ST TET off | Tgeh T WaIRT AR o Sftelieftel Teh I87-JT el
o7 3T TR ¥ - AN THA T | MBI W 91 98
fTT-T= <t o @

Tord 950 X ¥ W <@ TET AT | IY A @I o foF HE A
TFERT fa@n ¢ 3T 39 Teer ol 98l ¥ T ¢ qlfeh a8 fH-ue &1
foafae T & | T 99 G & HWIeeh TR =l S | 3TfaT gor
e o 37 AR $AO HE, T A o FO e e F 3w
TE o TR H UG AT | THT Teh ST STehT AT 3T 98 9T Teer
TIM H et off G| 3F TR o e 3¢ T faegt firelt | 3 ot
H 3G TG o TG oh! AR TR <f ST 1 a1 hal o |

Yo 95 U9 gITT| ST9 9% 99 o 919 T A 9 4 39
yTETSh @ 1 I W H Aok AT I R T 39 U wuery
T e WO ¥ SN T §eifud d 5T el, W @R
TSI, T T I W HT YT N Mokl W T 7| AT Torh
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u.2.

TART & € 3 I H1 GwdT BT Hemgadl | o ST A
Hiedl €| 3T STeteh! T Gor I JROM ot =few |’

e - TORT -9 9 q9dl § 96T fehe w1 An feErdt
| T8 AT hT T T e W T g TR

12 3T, 1961 W 3R T Tk Jader faT o1 | Fifeh 39 fo
TEE IR Te SRATaTET STARe i e H SRy TheiaTgach 9Ty o]
ofT | 7Tg W foelr o I i oy, v wfger st efafte amme
% g fe@m 3R Y et i 7 9ie W eq @ | 37 IR i
e HUTT gt AL O off 3Tqfiey = &t g1 Sl |

1 © o afsl eifaees ToRes=a 7 et TWieoT oY o 8 ST
AR § At i g off IF G 71| TR ARG SR F
AT 1 frehe WEeT B S7Afe § S ehdl € | Tgehd TIohT 31
T 7 SHEMRT 304 ¥941 § IR Y e St @ | WG T H
TRTRT STTRTET T T TG ST Wiy e 2 | Safiet o Tt § wen
TR &I 3 GFTT T SRR SRt ol 7t € | T e 2

TR T T g5 eI q3 TR W o 37T | YA o Tu I € Al
T ST TER- e W S E | WY WA-h 3R e
oft G BT T | Wftwes SRR of ST | qelt o & ST Tt
QIR FT TH | G J.T%. 3. HT W, T9e7 37 o a8 H ST
2| AT el AR # 39 fav § Sifere oI TR Shed ¥
T o foT T, T Y TR B € | S HEq T
iR

“frrer 7 gfeat ot A ® fSel 31X wR fe T,

“ ST Tk Tga o1 SAM ¢ fSfeft 1’

AT A ST

*

fom et § facandf @o-ga § % JafTer Yohed Tt WE &Y
1 B fos weeth § e T weany s S fa fastelt of s
I G & <eAaT AT | ST [T #Y Teh ©Afeeh ot et afae o, T
TRt T ST foraT, <1 T o, 7 e oY gt Tge oft Wt St 7

9
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(1)

)

TN S & AT T8et ©iifieeh sidel o g § a1 ¥¢ a1
3T T T fou | Uk WT S o S de S GO Siad o e
T | STl T § Tep fRTE X ot 31T u oftes o Tl B 16 9% o’
foam | o1 T o1 To FaRT Ot § R ST H ST e ofX gt Wt b
T I YW Ueh TE T 3TH S| d1del T AT hid T
TSt B T H ST T ITT aiiel B B bl aie S5 o |

FHifer Frae § W I TE@rehyuT o Fagar i %Y | @
T ¥ IR ST © | T St o 7S T T <@ it A §H I € |
fSTeer =T ST o Wt 9T gelT ST qaTe 31fHeh B o SIR0T 8 dide
% 3T FeAR Y e IS AT ¢ |

RSP IS RE)
‘YR U faerTaeier 397 §, W ST siefuch & ¥ 9Rd U qof
fornfad 91 €1 U Teiversh Y 39 3fo & I T I R &
T STT- ST 30T & R ST TIges, J31feh 37 feiaes e
HRIAHT |
T ; SAIeRT ST a1 o AT e § 1 STHeRY, 1943 Sl g |
TOTEIT : ST TRIe ¥ Uo-9¢ AIIGTaRT it o U FRIacerd & iy
T o AT 26 FIC ff TR &1 I o T W@ 999 W 3TEq
yfgere TR & o Tg’ T & T 1966 H MU Heg
favafacame & TEEAeTe foawm Tt Afifaent i Ity e
F W T, ST FA F A I A F T e foar
SRR 3T TRIT H 7T hTe feralT ST WRAYfH ol 3|
T TEST T hiodl, ‘TAGIR 9RT g6 1 o7 gHe aTet,
3T fEwm F e T AT S WA Iq A S € |
iR faem 3K 3T Shifehed ATSTCAhT STt o 3787 o7 iy
% g favg ) €1 faue S § 39 agHed AMeE % T 37
91397 o 3T M M gL |

VAT AT T AT H ST T &5 # ST Heea o ArTes
fer 81 399 ¥ 9N AT & W I8 W U 21 I o
SIS hi TR § @ISt ot ehiferer foeamedf &Y | ugee=s 17,
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T 3Tclt, faT TATSH, FERER Ao THA, BIFT SR T,
STRIST =5 99, . TH.S. ’gd oM, gOlfa< g, 4w
TToRT TehT, TaohT WRTHTE, ST AReHehT, THATT ARy

ECISCIED

TCHYHUT YR THT TART feaT STHarett FHeRT Fafee g 7 S 39
& faC aged Are & e e S €1 1954 H 7 R weelt
IR fear w1 ST foe ok foT i e T WeAr St S, e &7 |
eereH T, T Wife o o Aferefieror Tut St 1 faer | e Jrey
317 Bt off off i1 g e

T 2017 H 7 HETIHTEN bl g TERIL foam )|
(1) ¢ fqva Ared 9oz - T, TSR
(2) . <EmEE gfaadt - e, IR TS
(3) @ RS 9] - 7, faer|
(4) =, 4§t T - Hifee, AfHerrg
(5) . . 3. earrea - 3}, HERTE
(6) TSTHART weT=rehl fHITeR - e, 9IS

A o . o
(7) &t SHTEE {95 TEgEgd TR - 3TEATH, TSR

u.1.

7. W@l 9TE, 98l U
M) | e & wcama : TSI & Pt
3 HaT i | Tt
e 8 B2 L | e ———
@ O () = 2) T

W oy 1 31 rem o o @ 5 vgem | et

G O ) rureEd (2) 99T
Gy () facami () aEit
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u.2.

(4)

1

2)

3)

4)

TISTET | ST (e o SRV faganefr &t ger’ ™ qa
IR TSl € | ST foeanedf o et ¥ werR # i
g S ¢ 1 o o7 srufeerd e ® 39 fad @) wer gut fa
T H HEA Tl ST €| STEAE ST Wl ¥ g § 9%
qHe H STUfeerd Feet w1 fageha eIt € X faeanfear &t
T THEH 1 VTSR HH TSI g | STRT STUIEIT e B
e BT ST § | ST SCATITaT A Biel © | 13T ¥ &I &
ST ® 1 3Tt St oA ATt faeanelf off anfier wen ® s w®
Sickd

. BRSEREEERUT I
TItel o W | Lo 3 e

Wéaﬁa;lamﬁ l

B aTar
(3) TITa & ST HETAT ok el 3TRT ST |
(1) Tl B o fou STaves Ty ST g3 |

(4) T geheg frT T

(2) SR S § faedt @l T |

M (1) weememn Q) 3@
i (1) 3T () 3@

R T 3F Hecaqol WreTt & T gme off T W 7
rfesh gueH o 37 ¢ .%o STt TehsIe ¥ ST
FE FHT| THfew FHGH § AN o 9 T Wed,
RIUHR, T, AT, ISRAT BT AT SO Bt § 3K TR
YRR T AT faerTd 21T 8 | 599 STeAfavard 1 fmior
=11 | Qrgfech 9He 4 F TG o GHEISH HT YA B 5
% Tt ST QYR o Tehd & S U @ieAT, e,
FERIUT Taeh o 37fe | Wrfess FAeH § TaFs 9T &
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Tehd & | THIS, TS I IET BT T iRt S § qyfesw
T ¥ FeTad faet Ford 7 | THfeeh FHaH § i w1 g
T Thd § ST TR AT el T T TehelT | Tfeeh FHeT 1
T THe WA Gedn A gee! et 71 amfes
T Ueh T8 9 fIvaeiyc 1 WIoAT SR HLal € |

e
1. (30 (1) 3 a1 Tesit 7 fagnfefai ¥ el

(2) IT TS RO T 7 foF-TRfer § e

(3) IT A g TIX T HaT|

(4) IT TS SIAHAT 7 3T HIT T T |

(5) ¥IE IR RO 7 379 HIeRT § e |

(@M (1) ergufefa (2) ATt (3) Tt

(4) wEcTyfd (5) BT

W2, (30 (1) SHifor Y3iium T o T off |

(2) iR TCATT & HIOT Aol | T WX o7 ST Al 1 SATeT
faeanfefa o faw v =& o
(3) Hifer <IfEt ¥ favemg o @Y kel o foF §C 99ET o

e gva § 3 e ficrent fa=m & a1 g 7 i Tm
7YY THerT 3 ST | ot o TrS9TTe S T |

(3M) (4) foefefdi 7 B1E-B1e TYE TR Fehed T HH HAT Y&

Y feami
(3) WIS o f3Tereh ST Tiid o ST FeTadr & ferg 31 oy
(1) ISR S ¥ et @i T |
(2) facanelf T9d-Tard I ¥ UTSTET &t T ST & |
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u.3.

U.4.

u.s.

(1) e & e § STET e, Awl e S g Wrefe ¢ | FHE!
H BIE T 7 ATl T g o T 797 foham | 78 T e/ve
T AT T T ST 3ok BT o SHRUT T g3 ST 3Teht
TSI e ST 7 3981 T8 €8 | 79 Jfome © 3R &%
U T T TE G ohdT ¢ Ak SHITITIT T el oht et
B e Bl 1

(2) T% FHEH TG T F T BT T ST TSI F UG o | I
Mg H Teh AT T ST el b1 & W die <ol o7 | Toh T% st
3R T8 TH BT 3T TSI ot | SRETT o fe & e § o
0T ST | T -G ST M-Sl o Y G B T S |
STe=iT T TGl GTET GfTehet €1 ST ST F W39l el SfT Ui |

TeF &7 T ST T ST T & 37X TG o U o =gk

T ISHT a1 AT T & | T9 SR ST THET T HiA o aR H
R 5 | 3= 1ol W g S o7 Fe== fomam | 3ok gt
T TG e o AT ST TS9N o foTerer TETa & o e
T | YA o AT o ST oo S 37ad: STt auf ot HSTE
T | T W Faet I5g fA F qmivh o faenfuet &
ek FHCH ¥ I S| Thel, TST 3R FHSE o HROT
ITHVT T I §¥T AT @M |

(1) | get o o6t AT | |rer fHerent s s arel

| | |
@) | ferezmef g | | g

R | ST feeaeat o AW
| | | | | |
TR || Sooarelt || smreliy || it || 999 || 9
T ; Fagt o e o1 | guE et NtE ger T off | wren- e T e
e GIT o | et 7Y G 37T # geeh oAU = s 3 R 3%
SRS | /Y 3T ATSHT o STUR =1 =gl <1 | W ¥ ®a T o7 |
379 TUATEAT U T < At H ekt = fowr g | #Y oHA-3
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u.6.

X QT o | BT Fr? #Y g i oiwA-at e €1 s ge w
ARIE T 3T T o AT 3T TST Hh1H HT fe2m|

Tormer™ : 1 TR k-1 € | YX TRl W e HE ST T ug
gl B | foeamer | <@ guRt ot forfersht 3 weteh oeq & fow g3
T A g TG g | B 3 TR R H e foraral ¥ Tgeht gae
%3 3TN B W o | 7Y 39 % o ot ot vmemeft et |

TREST ;T IR Qh-ForT TET TART oA 7| 3K W=
TT-TE T’ AR A AT ST S ST © | H 370 9fawT # v <
FET S TAR & o o= fhTt 1 oft Tgoh W FST Tl ek < |

RN : 39 91 899 CraTell & RN W s | SRt Il b
et & T & wid | AT 37T U TehT 39 =i o =Ed W
qEHITRa 375 511 AR G &1 g TR |

g I Fag ST 0T BT GUH ®Y Y wfad w9 7 | e age
T Hifder Q@i Ht M FHIAT 7 AT AT STHT T T ¢ |
37T IR T 3T a9 R A1 § W S fafeheer W g
3R favarg & o a1 & Tl i B | Hee o § | e w
“fifereR SIS e HIdT € AT JeuT B8 0 1 9ifer e ot € 1 39
FHEF o ¥ ST T SRR § Tewd § | i

‘T TR TR T, T & S S

TAR o T T U WIiGEmel 31 § W SN gEq
“forg’ | 3 ST o AToHA § € S T BT ST B aah! |

QA :

*

‘&Y § e § Y 31T el ¥ wed fierd €, 519 Jofd § 89 09 dr

fet e & feea 1

x U 9 YA G o A T E - (1) g () e S
(3) e T

TOF AT THT FHEE Wi ff T v 7 ek
TaLEeh T Wi B |
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*x R YT I : A T o g UEuia eI R |

T F 92 - (1) fres At (2) SR

(4) WRSRA  (5) fertfeaR (6)TeT

(7) AT A (8) WK (9)Fe

(10) WfFesT (11) FERRTK  (12)FIER

(13) TET GIER  (14) TATAER, T 3T A T
TTo TITeRT o T 3TeTTT- 7o & |

OTSTET o TIYITeh & T ETET § 3T ST B LT oh & © |
TG BT OISR W TT ST ® ST ATIRAT T GO ST

faTTE B

T T AT Y T STe%T G H IRt TR |

T RS H 98 T 3 T ST Jor 7ot o -
I Sy Te-e 3T, Wal eI T&T,
fred-mat & g e foreht § 59 T e

T © WA oh! QT ek 3Y9er ¥ o ¥,

97 T TIRE TEH 7], ol e e 1

'O T WIS 39 Frult & ey w7 fve o gudur ot e o
e 3T AT T T WA H Jog & T Yoiie U & Sfeft 2 |

(3) W= SR

STEHTUT
T.1. ; frirm
1) femme= TP FHT TR R
(2) HEWTR Y T & =0T TERAT ® |
3) fifea SHIHIT FH T 7|
@) T8 297 T 3Tfefer TTUM & |
(5) uftsm TG T el 7 |
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u.2. fam e T
1 | qoffeR™
Q TR IEEROT o
3 ? 79 fered
@) - RISCAREC
G) FreqferTH
©) FHTLT SEROT foreT
7) ! foerenfearyes foga
u.3. . .
L& wdt | fEE et
TFTTJ[ e QloRlIcdl HloRllool
©q 3 LiE) LiE)
wE ¥ et gt
Tr& T=T et STT&T
NIES) TRt | gl T
HE] BT arferat AR
RESS TR Hferd et

. 4. (1) ST BT 37T b1 a¥E Hor - ovef : Isft & rarm
TS - T H SAHAT! 37 Toh € qe a1 T H ST Ry ST R
TE T T |
(2) e - aref ;Y S
AT - TS 7 TH b1 BRI 1 ST T |

(3) el =Ie a8t TE - et : g=a7 €4 W AT e g |
TR - 3{Ad: ATAhAre! o ST T §F o9 Fehel; T e € gl
a1E TR TR |
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TG hITTS (Writing Skill)

u.1.

u.2.

T 9 & HEA B 1 WA # TR e o aifier Hered 99
YT G FAET 77 | JTaret 9T oF T9FR | AR Shalleh HHIT
IS THRERT TeATe fayfid fohar| 39 e@et | &g 0
AT, TS o STSH-AST BT T G IR o | 0T
T U8 GIE( deT T s ohi YT T3 | B3I Hal o Sl 1
TETT i T o |

TvETd AR faeamee & Feer ¥l ¥ 7 79 Weied ol
e e iR Tolekr < TR fRAT| oty WERd %
FHLHAA! SAN BIeR BMAI & &K feu M|

T THL W 3T Giahcah hTAshH @ T | I, T, Tahieh!
e TART YRS GEhfa &1 SHifhal TEqd 1 5 | 3TeT Hered 7
HTIHT T Y- IO Y ST fogznfefa o gt wfass st we
T U TH YT &7 | e=gae A o are T e @ S 3
W I o O T R 39 W F 39 VIR FREH H
AT g2 |

fegt ot amq o1 fom O 99 oF A1 for fRE SMuR o WA
stufavary 21 9fedt § Il o TR WA, T 1 WA, o
foerT aTen g%, Yya-Ud T 9 S ATt g stufavardt s It €
STAYaTT T T HTA HT THATT Y 7 T G T 9T HIAT |
ST HeTd, T S Gehed ¥ 379 T T <ol aTelt ohl Hister et &1
ST € | 37 BH THHS SeRT 3TN ST BT, ST .

TeTE BT TEY TR T W & &9 Hufavard &1 Toed 4
TeC FFereiil | SeTer SFehIoT 3O ¥ & SART e 3T B
AT <o ST SR T Sat T Tehiq AHeRT Aigeltst 73 & g
BIS T TF | Ik R T v, a5 3T a1 & o)
TR We 3T HAg o faehfad ear €1 foe oft ser-afteer &
&S 1 Ik SIFHI0T ¥ THEAT =fET 3R fFT ST favar® e
=feq | difehes T § & BH WA 6T Tohd & S Gl 9fger
fomioT T erer € 9% o1 &9 T T 9 |
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AT ST

®

T e T T WAl o BT ATeHT ATetehl bl GRATHH fohaT STl
T | 3TRT FTeft W 3T ST ot fehTen ST € 1 = 3R fam
T & X arere B

T & TIUeT o 9o F ST STUHT AT o WY Arhe aF el
ST A1 TR H I AT M H A 3R U 7 U WIS A I
FEHT T T g9 o | TR T =g @t et Bt A T A ST
ST 3 T TEHISN o BT & ST A BT 47 S o | TH SeAnwr ¥
= o I Wi, 39 GaT W A T &7 76 Bier | fog ¥ 39 seHy
& TS W 3R Y H1T o FoTger HROT T F 51 T AP B
T | fore T g = SS9 STl Uik fean | St -t
T TS T W I ST IS Y A T2 | T G0 H I BT o oft
TN o T T FT T Y foE 7 v fomn | g SeRe g
TG 3TTCT WM T & FTEHIT I M | 9 T AT arahl o et
TI-T SCHTEN % S @ad fAu |

@) focameff @F =X

Ueheq

ST HIYTeT

* T rAC|
Tufees (3Te) oS
fewefifar FAF A G
T TH.UH 3R
TETERYT T’
TEAEES (AE) | TEwES
TeeT TH T, 3T,
R CAF G RY Tl T
feeTg AW, A S,

)
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u.1.

u.2.

1 -
2) O

3)

1

)

3)

8. SitaT T8l T hiaT 2
am, (2)-%, (3)-3, 4)-3
@I EATIH WO & 3T ST T IR (H 3T g F@T |

() (1) 37 - 37 A T AT TR T T3 2

(2) T - T forRET TE < THET T g8 2

fSTeF T 72 M 3K Hfa TR €

I €, 3¢ =1 WA eredl, R T A F W ITH
ST TR e AT © | ATGS T AT @Y <7 T THE 7 T
BRIl | St H ST Telt Shig1gal Ga =l vt T8l B | Y 3N
e 87 M T T o quen W g | 9w fet bt T
AT, el G HHIST I AT AT T AUl o g1 ST § AT
T TAT © | ST F W e T <9 T E R |

laT’ 4311-’
(1) T TEE
(2) 3I9aq TTA
3) faset el
4) forfeaat T
0] (1) T () g9

() 9 SHT S FTell! & T Y T ara!

T I fohaet &1 TRAT el W T o Fel g3 Al Hr
S e s e e e
STTa @ Ted-Tge & Tel | U ST & 37 S M ol 37T
S e e e e e e e
FHT T T ST T T HaT, ITH TeR T F et 2
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3. M)
)
3)
@)

e

1. (3

TS HerAT st

<7, farett & B § S e R Hr g

Tg Ufe g9 GO oT=T ol e ot Hes 39w fed €
fEEAT Ta T T | T 37 § W T fEet i fie ) 3 gu
fEell T STefeh Yol ST § 99 € Sia # STt o s a2

T T P G TR Tl € | SEE TaT W W H T 7 Y
Y < IAfE o ST T SHTE & H1Y S IGa ¢ |

STeT=reh AT TiomM & | G99 bt fondlt o foq wemar et B
TR T T R TE QA S e T e | v 7 e &
T Sfie H S e Se | Y FHETSAT T T Tl Bler |
St & g@-g.% 1 3T & ], Sia | 3THhe gU T Sha o]
T | 9% Tew e € |

(1) UTeR & AW ¥ U5 & Ul I 9 € M Iqa TR
ST § | 9 Y-t St SIEst ¥ R § 9eR 3@ &t
3937 Sfifed B € | 9% $99T SUAH I WA Tl <l 3
U FG F 3T & 39 T T ewAfad & e ¢ |

(2) TIEE W IR T R I 7 | IHT TRAT HagT
T ST T TR T ool 9T B ST
FaT W SR T TRET o St € S 9 oF St 2
TRIFCET o Fa ot foaT = Geg ShaT € 7 SR | T |
TeA-TE T & el @ |

3) TH WA W FD ot T8 T BT, HaeT SHehT T qGe ST
21 {59 T forame AT €1 ST € A YW AT ST
TEHT IY T T 39 ¢ A B TAN Sha ot vvad ¢
THES o 3 ¥ 98 TH el ol | HIA =h T
T & 3T &5 39 G=a8 & HTe ST €, ST 9GT € |
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(3T) 39 fadr ¥ wfa ST ST 7 g fafay ISeor <o Ssiaq &t
YIRETAT T SR Fohe fohar 2 1 &9 Shad § &8 9o Su
oI R FT € 7 TH SHa @HT o § 31K T 37 99 W
T off 77 Y faIET S0 7 | T o Hen ) € g sme
I THET AT T TEI et | Sted ¥ g S g@ <l S
B 2 | YT TR & TAR T B BIAT § S AR STl T
faeet off = TART IS S T1 T H WA § AT
feRTeRT & TTT &1 ST & W Sfie ekl Te |

@) o dfeaat ste ot sTveadr sdrdt 7 |
* o O o AT ST ¥ Sfe TEt A e ©
* g Al o g9 ST W 3T T AT AT B |
* g Rgel o @I Y oo el A e e |
* g Y YA SHITITET T SYaT Tl 7 LT ¢ |
* D TES! ht AR T U TeT T HIAT 2 |

w.2. Hfa ¥ 37 Wam! dafua ferar &

31g IEH arar Hrcht e Fa A
&3 e 79 A Tt SHHTST e arar
T ISADL S ATl =T T L ST At
T T 3W TG Il o T TG T AT
THLT Tl T ATl Ta T Y IS arar

STETTT YT

*x  URSS 9 e © S G g F O S € | WRHen @ Wi v
STy # URat AT € | 98 S &1 EReT W Gy ok S (TS-
e, Sfa-7g 37fE) T TR |
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I o1 GRSt o fafay wEn fFy S 7 ) fog IRt o
fega ol # I 78 © | RS St ALHT 3T 3= A w9 H
T et & 31T o TR § STANT # 1 et © | T ST T ST
3TIST bl @M, GHT ThTH, T I, T TS I o feag aem
fertet s 5 fer fomam ST 7 |

39S WA # @it of | s o fet # o gt feneot o A
¥ et @ 1 SHeRT IR SeTE W R 7 | R off GRSt U U St
 foTeenT S e fietar Te, 31 Sstt @il oY alE 78 Tl BT |

STRTTT
WTYT ShT 3T

* (1) SHTHEEA (TETRTH) Hia STIYTehT T9TS

(2) fowmer oieT ¥ faeett o1t 7 [ wan St 31 ot G T <t |

@) ) wmerm | a

(4) foreh e o o e

A Hem o
* UHE] N ERINEEL
Sraraett i)
G SRI9TET (Writing Skill)
* T T ST T & 3T 98 ot T TR & T T | TR T 6

T &7 YR A & U THemdT € €9 THT % W T ST 33T
| R T Sfa & @ i afedt arg T | STEheA )
FHHSIR &l o7 T | €7 T & Y Fed ¥ HeH Haret o a8
T ST T off S|

T A1E Tl =1fen foh aftad o gfe o1 fram ¢ | ‘et fer s 7
TS U 39 3N W & g srem €1 ek et faam 2
3T g 3T=3 fet % ¥e Tt AT =Nfey o X ot & fewa e
DS =My |
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T 7 off AT TG AT o ‘T ST wred ot Rt wever et
FIA B HE ft g F 7w & U 9T & 3Rl TR
TEHAT| 3T T 1 % HLAT AMGT | TaT AT 3T TSAT BIT T, STa
fafear o 7€ wa’ aelt ufer ATe ST | 37 THAMSAT Sl TR
T T AT MeC | T o TIAR Fe § HOR T FHfeT ¥
e T o ST B ST ¥ | 9T i W wed 7

T Y 9 A A, THT I 91 I |
Fq fora eaa orft, THa <[eh i g | |

FAT A ST
*x  focaneff @@ et
3T - 1
*
EIR S gAYy | fovmmve | v
e il ELLS
a1t wE Lic) foerr
eiee) & e frer
T 9T g Elc2)
g STfarereh ¥ | Y o o § 1 98 ¥
arfa HfeRTaTerh WA | fHa <rerStt bl T TET R |
oI TTETeIeR T TS T T & R |
AT T aT ATy
&l T 7o GEH T T8 T ¥RAeT <@ |
Gl AT IIF T | HE MR
H PRECICEaRSE i) T WHA 4T R?
fergiwoT vreg qT A
=T e fagmo TeW IR B 43 ¢ |
T3 ToTaTeR fergTeeT I AS T
ofreT AT afcmoraTeren femeT | erersit eiver ot fifse |
Std. 7 Navjeevan Term Book 2 : Hindi Sulbhbharati

u.1.

u.2.

u.3.

fagimur yieg g Elc
CEEll ferven oA o1 U o A9 98 B
foerT e foram T 7 STTSIT T T et |
fre TeTaeh fohar| 3 e 31 )
A - 1
aq I Jea STg TOTTEAT
ESiEepi) TR TSI EINIRIG) it
3T I HGlIE AT Hfer
Stada oy :
@ ¥ I T ¥T I F uwW U
s et 3 e I o
Fad4: &, W@ T A 0T
¥ % W @ oA
€T 8 ® ® W ¥ ©
¥ o T g 7
T ® 9@ W w
T T @ T
¥ W T @
g E) aq
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u.4.

*
*

*

W Uyt
‘feraehatl TR &l Ig=
[RECTURENEICIRIEY

3T THEAT Sl AT IS T
UTYT T ot < T
TSI | g aTel BT o for Swha B |

fomr ferrehem bt femelt oft Sieht H 8T Hepa e - wran o, sfaafem 3.
BT 37 TS & THIOTGS o 9127 3797 forg veei |

sifrm fafer - 30 F99X 2020

WUeh st - o Ay Traq (ke fonerer)
fereren fergamer™, #etre (@)
LEEL

raciaE) = 0222X%XXXXXXX

SUchH

1) T glaar -

*

*

Rt T AT ST €1 I S W A 2
T T T e €,
FTeAereaTy Fad a2t T B |

TR ST ST AR T ) T R,

A o df 'R 3R 3 foram ot i |
TifSTer firet =1 faet e o gopaet 1 A ¢,
TH HITT off T L 78 A T A 2 |
G & 9 S 96 W e 5 g,
T i F RIS € |

S S @ § TR R

wied TR e’y AfE o |
ST 9 AfE 3T | |

)

3)
®

@D

i)

Gv)

W)

)

STTCTE A T g 9T 91 & |
fisT v 3= ], T 3 B g |
TR H TR 7, T 1 e
T G T TR G T AEA STAN,
T AT AL € S AT o o W
TR TR laehT ehedt T AT |
* el § ST AT TR e B,
SHITITIT LA ATl T BT TR T8l et |
T UTARI ot e -
* i gfear Gontt ST It §
TARAUT - Team India Khelegi Chaimpiyans trofee men.
¥ IORYE & aRee AR gS W Fsial ¥ SgBIS Bl
BRI il
foT&@UT - Rajasthan  kee  wild life  centuries par

vanyajeevon se chedachad kee nigrani hogi.
3 e fereeRor S |
*  IgVITET ok TS STeR ohT feéel U SIS -
God helps those who help themselves.
3TTATE - YITEH S| oh! Heg icl € i W ot Heg hid ¢ |

Time & tide wait for none.

3TATE - GO 37T el ol ohT TefteT e et |

“There is no word ‘impossible’ in my dictionary” said Napoleon.

3TATE - T T ST T, ¢ ST’ I Vg W Ik A T e 1’

Every day may not be good but there is something good in every day.
I - T o T ST T A WY W A FS T FS ST e A ¢

* % X% %

*

A man is known by the company he keeps.

3TTATE - W o1 T Uk WY T& aTel At & et B |
facamedf @ &Y |
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